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Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 1

Question:
Express {T_';;[—:_l_ﬂ in partial fractions. E
Solution:
Iv—1 A B Set L wdentical to
g SEETRER g + / T x=12x—=3)
(x—132x—13) x—1 2x-3 { B
_ AQRx-3)+B(G-1) g g
 (x=D2x-3)
_ Use a commeon denominator and add
Compare numerators of fractions khe two fractons:

2x—1=A(2x-3)+B(x—-1)* «——————— Because the fractions are equivalent.
the numerators are also.

Put x=1 in equation *
Sl=—A4+ 0= 4=-1 4———— [To find 4. substitute x=1.

L. :
Put x :1; in equation *

[t

To find B, substitute x = l%.

1
=0+-B=B=4

2x-1 -1 4

So =
(x—1)2x-3) x-1 2x-3
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 2

Question:

] ) Ix+7
It en that f(x)= -
1s grven that $(x) G+ 1)(x+2)(x+3)

Express f{x) as the sum of three partial fractions. E

Solution:

T e 3x+7
] Se
= 4 + B g c identical to
x+1 x+2 x+3 A B C

A+ D(x+3D+Bx+D+D+Cx+D(x+2) [x+1 x+2 ++3°

(x+D{x+2D(x+3)

*— [Use a common denominator
and add the three fractions.

Compare numerators of fractions

I+ T = Alx+2(x+3)+ Blx+D(x+3)+ Clx+1)(x +2) + [Now put the numerators
equal to each other.

Put x=-2 in equation

1=0—B+0=RB=-1 - To find B, substitute

x=-2.

Put x=-3 in equation

—2=0+0+2C=C=-1

&

To find C. substitute

x=-3.
Put x=-1 in equation

4=24=4=2 To find 4. substitute

x=-1.

F 3

3x+7 2 1 1

S = - -
DG +DGE3)  GED) (12 (+3)
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Review Exercise
Exercise A, Question 3

Question:

.

Gaven that f(x)= +. express f(x) m the form

2—x){1+x)

A . B L C _ E
2-x) (1+x) (1+x)°
Solution:
2 4 B C
= = 52 =+ 5
(2—x)14+x) 2—x (14+x) (1+x)
A1+ 3 B2 —x)(1+x)+C(2—x) [You need denominators of
- Q-1+ x)? (2=x).(1+x) and (1+x)".
Compare numerators of fractions \ A thee Tachons
2= A1+ x) +BQ2-x)(1+x)+C(2-x)
\ Set the numerators equal.
Put x=2
2 = A4=9+0+0 « To find A substitute x=2.
2
oA = =
9
Put x=-1
2 = 0+0+3C
2
nC = = . 3
3 4 [To find C substitute x=-—1.
2 7
22 = —(1+x)'+BQ2-x)(1+x)+=(2-x)
9 3
2
2 = —+—x+—x"+2B+Bx—Bx
9 9
4 2
+———x
3
Equate terms n x* on both sides
0= gl_g _p - p= 2 PRI Equate terms in x° to
9’ i ik 9 find B.
2 2 2 2

= + +—
2-x)1+x)" 92-x) 91+x) 3(1+x)
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Review Exercise
Exercise A, Question 4

Question:

14x" +13x+2

G+DCx+1)7

4, B _C
x+1 2x+1 (@x+1)°°
Find the values of the constants 4, B and €. E
Solution:
14x* +13x+2 4 B . C - — :
ey T = = R 4—— [You need denominators
(x+1)2x+1) x+1 2x+1 (2x+1) of (x+1).(2x+1) and

AQx+ 1)+ B(x+ 123+ 1)+ Cx+1)

i (2x+1)°.
(x+D(2x+1)

*—_ |Add the three fractions.

Compare numerators of fractions

145" +13x+ 2= AC2x+ 1> + B(x+ D(2x+ 1)+ C(x+ 1) _
4———— [Set the numerators equal.
Put x=-1
23=A+040=4=3 « To find 4 set x=-1.
Put x= X
2
_-_E_E_Fj:l(j:}(j:_j * To find C set 1‘=—%.
4 2 2 =

21427 +13x42=32x+ 1) + B(x+ DQ2x+1) - 2(x+1)

_ ;o a ——— 1 2
Compare coefficients of x°: +— Equ?re tcn:ns.jm e,
14x" =3.2"x +2Bx”

14=12+2B=RB=1 .‘_ﬁ_‘_i_—_—_‘%_
Solve equation to find B.

Check constant term

2=3+1-2

14t 413x+2 3 1 2

oA —= + - .
(x+DCx+1)7 x+1 2x+1 (Qx+1)
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Review Exercise
Exercise A, Question 5

Question:
X +6x+7
£ :17 =R
W= a3 €
Given that £(x)= 4+ B + € find the values of 4, Band C. E

(x+2) (x+3)

Solution:

£(x) = x +6x+7 _x +6x+7 /

(x+2)(x+3) X +5x+6

lrem(x+1)

—
" +5x+6 ;IJ': +6x+7

x+5x+6

x+1
x+1
~£(x) L
(x+(x+3)
B H e
x+2 x+3 =
" B(x+3)+C(x+2)
(x+Dix+3)
4 = 1
Compare numerators of remainder term

1+

x+1=B(x+3)+C(x+2)
Put x=-2

-1=B=RB=-1 ——
Put x=-3

\ \Add the two fractions.

— [Set the numerators equal.

This 15 an mmproper fraction so
mltiply out the denominator.

Then divide the denominator
into the numerator.

It goes i 1 time with a
remainder of (x+1).

Write f{x) as a muxed fraction.

The denominators must be
(x+2) and (x+3).

—— [Substitute x=-2
to find B.

- [Substitute x=-3 to find C.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 6

This 1s an improper fraction so
multiply out the denominator.

Either divide denominator into
mumerator to obtain 3 with (1—25x)
as remainder or split numerator, as
shown.

Question:
- e 11—5x*
Given that f(x)=—————_ find constants 4 and B such that
(x+1)(2—x)
4 A B
f{x)=5 + 3 E
W=+ e
Solution:
6
— 540
) = 11-35x « =,
(x+1)(2 —x)
_ 11-5x7
B 2+ x—x°
C10+5x-52 . 1-5¢ a—
24x—x° 24x—x’
= A B
— A+ 1
(x+1) (2—-x)
where
1-5x A B
= +
(x+1X2—x) x+1 2—x

+———  [Use partial fractions with

A2—¥)+B(x+1)

(x+102—x)

Sl=3x=AQ2-x)+B(x+1) +—
Put x=2

—9=3B=>B=-3

=

Put x=-1
6=34=4=2

—

" |Add the two fractions.

—_—

—— [Set the numerators equal

————— [Substitute x =2 to find 5.

denominators (x+1) and (2—x).

R Substitute x =1 to find B.

SE(x)=5+

x+1 2—-x

© Pearson Education Ltd 2C
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Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 7

Question:

_ 9—3x—1247

flx)=——-—"——
) (1—x)1+2x)

Given that £(x)= 4+ E + 2 . find the values of the constants
(1-x) (1+2x)
A Band C. E
Solution:
f) = 9—3x—12x° -+ Multiply out the denominator.
Z (1—x)(1+2x)
0_3r—17% Nlmleratqr 18 split_ into two parts.
= T / [The first 1s a multiple of the
o denominator. The second 1s the
= 6+6x—12x 3-9x remainder
14 x—2x" 14 x—2x
B C R This could be done by long
= 6+ - L . 3-0x
1-x 1+2x division to give 6+ =
I+x-2x
where
3-9x _ B C —  ——— [Use partial fractions with
(1—x)(1+2x) 1-x 1+42x denominators (1—x) and (1+2x).
_ B(1+2x0)+C(1-x)
(I-x)(1+2x) ————— |Add the two fractions.
S 3-9x=B(1+2x)+C(1l-x) -
1 - [Set the numerators equal.
Put x=—
2
1 1., : " : ; 1
?;=1;C:>C=“l Substitute x =—= to find C.
Put x= -
_6=3B=RB=-2 - Substitute x=-1 to find 4.
So
£(x)=6— 2 5 -— Write out the full selution.
E l-x 1+2x
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Review Exercise
Exercise A, Question 8

Question:

Use the Binomial theorem to expand /(4 —9x) | x|= % i ascending

powers of x, as far as the term m x*, simplifying each term. E

Solution:

_— [Write in index form.

1] ———
4—9) = (4-9x)
) L o—————— Talke out a factor of 4.
= |[a0-2Z
7 B 1
L e F] oo
: 0 11 Write 4 as w.."r-*_.—l.
- -3
5 1
g |2
= I—IT 1
| ( Q2
J / Expand ll——l‘ using
) . | 4
H —93. l—_|—_q —_91 | [the binomial expansion
= El—Er—r ' J220204 ) with n=l and
g 3! 2
| —Ox
= 2 I—Ex—%x] — ?:;9 x| \
. 128 ] ! Siplify coefficients.

x X X -
4 64 512 \
MMultiply by the 2.
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 9

Question:

f(x)=(2-507"]x|=

i | ks

Find the binonual expansion of f{x). 1n ascending powers of x. as far as the

termin x°, giving each coefficient as a sumplified fraction. E
Solution:
fix) = (2 —-5x)"
r v s T2 i e Take out a factor of 2.
= !fl.l—ErJ{
1 e N
= l{l—i_\-] - — [Wrte 27 asl.
4L 2 4
B | PP o2 T o) o] O ) ) 4 O
4 V2 ) 21 2 ) 3! o S
~ Ly oce T80 9350 | TS 5\
- 4 ek T 3 ) Expandll—7xf using
5 l_ir —Q—E.!c: +E % binmnialexpaneio:n with
4 4 16 8 -2

n=—2 and x=—x.
9

Simplify the coefficients.

Multiply by i .

© Pearson Education Ltd 2C

file://C:\Users\Buba\Desktop\further\Core Matheroga#\content\sb\content\c4 revl... 3/6/201:



Heinemann Solutionbank: Core Maths 4 Pagel of 1

Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 10

Question:

£(x)=(3+20)7 | x]<2.
Fa

Find the binonual expansion of f(x). in ascending powers of x, as far as the

termmn x . Give each coefficient as a siumplified fraction. E
Solution:
f(x)=(3+2x)" ____— [Take out a factor of 3.
.- iy} - ___————*__ﬁ_—__
[3[1—i” «—
\ 3
1 ( 2.’:]_3
- 31+
) [ 3) 1
(2] OB 2 Wan 37 -
= HOT a3t

y =3
e

i 3
Expand l 1—?

DD (2x) | |
N _] +‘

31 L3 ) _ . :
_ ) _ using the binomial
1 % 48 480x° | expansion with n=-3
- e Ll 18 162 L 2x
=EA = / and x=— .
_ 1 2x 8 80¢ :
27 27 8 729 Simplify coefficients.

Multiply by % :

Fay |
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 11

Question:

1
f )= = 1+ "-1 xS
(x) D J(1+x)

1

Find the series expansion of f{x) in ascending powers of x up to and

mcluding the term in

i

E

Write each expression
in index form.

1
Peplace n by 5 and x by

—x 1n bmomial expansion.

1
Replace n by 3 1

binomaial expansion.

Simplify the terms in

Solution:
1
flx) = —J(14+x)
J1—x)
i I
= (1-x) *—(1+x)?
o R
| _1 \ 2 AN 3 g
= 1_|_|_ {_.T}_
U 2
(—1)(—3)(-5 ;
'THT 5
L 2N2 )2
3!
| o e
j. _|_l|- _3 :|
= l+lx
2 2
|
[ . 53 —
= l-I-%x—%x'— 13‘6
— —1——1 +—x +---|
|_ 27 8 16 |
= — 2 iv “
8 16
% X 3 a
= —x =X -
4

© Pearson Education Ltd 2C
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Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 12

Question:
Given that
3+5x __ 4 B
(1+3x)(1-x) (1+3x) (1-x)
a find the values of the constants 4 and B.
b Hence or otherwise find the series expansion, i ascending powers
: : i 3+5x
of x. up to and ncluding the term in x~_ of 71.
(1+3x)(1—x)
c State, with a reason, whether vour series expansion i part b 15
valid for x= é E
Solution:

file://C:\Users\Buba\Desktop\further\Core Matheroga#\content\sb\content\c4 revl... 3/6/201:



Heinemann Solutionbank: Core Maths 4 Page2 of 2

a
3+5x 3 A N B 4« —— ——— [The denominators must be

(1+3x)(1-x)  143x 1-x (1+3x) and (1-x).

_ A(1—x)+B(1+3x) Y

B (1+3x)(1-x) ~———— |Add the fractions.

S345x = A(l-x)+B(1+3x)
Set the numerators equal.

Put x=1
8=4B=RB=2 = Set x=1 to find B.
Put x= —17

a

5 4
F3-S=A=A=]1 +——
303

b

Set I=_?1 to find 4.

_ 3+5x _ 1 - 2
T {14+3x0)(1-x) 1+3x 1-—=x

_ Write 1n index form.
A+30)7" + 21— a—

Expand using binomial theorem:

Expand (1+ 3.1:}"' using the
binomial expansion with

-2 1 |

= {H—(—l}{ix}l—l—%{}r}'—---l n=-—1and x=3x.
x_ 4
B YA, LY A Expand 2(1—x)" using the
L EDED p .
+ 2 1—{—1}'(—1J+—1>\2 Aa / binomial expansion with n= -1
) ) _ . and x={—x).

= [1-3x+92* +-]+2(1+x+2"+)

\ Simplify each expression

= 3—x+11x" —-- v\
Collect the terms.

c Not valid when x=

. as expansion of =
+—— [Terms are (3x).(3x)"--- and

I | =

(1+3x)7 is valid for [3x|=1 only. 1
when x=—.3x>1 and the

terms get larger.

© Pearson Education Ltd 2C
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Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 13

Question:
3x-1 1
f(x)= = xl=—.
0= =z *2
1 3x-1 4 B

. where 4 and B are

Grven that. for x=—, - + :
o = -2 (1-22)  (1-22)

constants,

a find the values of 4 and B.

b Hence or otherwise find the series expansion of f{x). 1n ascending
powers of x. up to and including the term m x° . simplifying each
term. E

Solution:
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3x—1 A, B
(1-2x)* (1-2x) (1-2x)°

M «—— |Add the fractions.

(1-2x)°

Sl o= A= Set the numerators equal.
1
Put x=—
2
1 - 1
3 = B Set x=— to find B.
- 7
1
S3x—1 = A{l—l\'}+5

Compare coefficients of x

B g g = < A5 expressions are identical
- - 2 equate terms in x and put
coefficients equal.
[check constant term —1= g ok ;]
3.":_]. 3 ; -1 1 | ; =
=T (1-2x)"+=(1-2x)" «——— |Wnte in index form_
(1—2x) 2 2
b Use binomial expansions:
: — 3 B
3 1(=2 D=2 —=3(=2x) Expand ——(1-2x)
- Frect-an+ EXD gpp EDEDERP ] et 50
2| 3! using the binomial
11 7 (=3 —4)(— 2 expansion with n=—1
_1_|_( 2)(— 21}_'_( }( ) ( e ]':l )(—2x)’ oy ] By
A
B Tl e I q:,,,;-‘\ T
= —;|_1—;x—|—43: +8x —---_|—;|_1—-4x—1._.1' +32x +J Expand ;(1—2.1:}‘
using the binomial
= —l—x+0x*+457 +--- expansion with n=-2
and x=-2x.

= —l-x+4x +-- Simplify each

EXDIession.

Collect the terms.

© Pearson Education Ltd 2C
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Solutionbank C4
Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 14

Question:
f(x) = AR
(1-3x)2+x)
= 4 + L + & | x|= l
(1-3x) @@+x) @+x)' 3
a Find the values of 4 and C and show that B=10.
b Hence, or atherwise, find the series expansion of f{x), in ascending
powers of x. up to and including the term n x°. Simplify each
term. E
Solution:
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a
3x?+16 _ 4 B ¢
(1-30)Q+x) (1-3x) Q+x) (+x)°
_ AQ+x)'+B(1-3x)2+x)+C(1-3x) «—— [Add the fractions.
- (1-3x)2+x)°
L3416 = AQRH+x) +B(1-3x)(2+x)+C(1-3x) « [Set the numerators equal.
Put x=-2
8=1C=C=4 > Set x=-2 to find C.
1
Put x=—
3
b g g - 1
3 9 Set x=— tofind 4.
230 4+16=3024+ ) + B(1-320)(2 + x) + 4(1-3x) 3

J 2
(mnpa.re X~ terms.

3=3-3B=B=0.

Compare constants. - — [Equate coefficients of terms i x°
or
16=12+2B+4=EB=0 equate constant terms to find B.
b
P +16 3, 4
(1-30C+xy — (1-3x) Q@+=x)

4+ |Write 1n index form.

= 3031 +402+ 070

l—i |1—— Talke out a factor of 2 so
7

2

= 3(1-3x)"  +4x27

Q2+x)7 =| 2'11%’]} _

[ —D(=2(=3)  (=D(=D(=N(=3) |+ [E 13(1-3x)7"
i i - EDEDEP | D3N3 ] Expand 3(1-3x)
. 21 31 . using the binomial
; ; i - o expansion with
i 4 14 (=2) £1:+(_2}(—3) i‘ +(—2}(_3}{—4)i£ _' n=-1and x=—3x.
4 12) 21 2) 3! 12) |
2 3 3t —4x [ -
= 3143492 + 2703 4|4+ |l— x4+ — R | 3—:‘ X
[ ] [ 1 3 ' Expand 4= .1 >
2 : using binomial expansion
i L :
2 with 77 =-2 and x=':.

© Pearson Education Ltd 2C
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Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 15

Question:
£(x) 25
X =
W= G =
a Express f{x) as a sum of partial fractions.
b Find the series expansion of fix) tn ascending powers of x up to
and including the term in x° . Give each coefficient as a simphified
fraction. E
Solution:
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25
G+ 2x)(1-x)

4 B C
(1-x) (B+2x) (B3+2x)°

» e
AB+2x) +B(1-0)(3+2x)+ C(1-

Page2 of 3

The denonunators must be

(1-x).(3+2x) and (3+2x)".

x)

(1- )3+ 2x)
AG+2x) +B(1-0)(3+2x)+C(1—-

h\‘_\_&

A dd the fractions.

BN

Set the numerators equal.

25 = Ax5+0+0
S 1 « Set x=1 to find 4.
Put x= —E in *
2
25 = C;«[l—(—%]:cx 2l 3
| 27 2 Set x=—— to find C.
Sl S 10 _
Compare coeffictents of x° in *
i: ii; %&B_ - = Equate coefficients of terms
il 1 ; . in x? to find B.
TB1N-x) (-1 B+2x) (+21)
b
RHS = (1-0)7+23+2x)7 +103+2x)" +—— '_W;ite the right hand side
—1)(=2)( )1 in index form.
» —_ —_— —'Y_' %
(1-x)" = 1+(—I)(—x)+.,}—|+---
= g ‘L\E““ Expand (1—x)" using the
binomial expansion with n=-1
and x=(—x).
W3+2x)! = 2 |3|r] 2% *+———— [Take out a factor of 3.
-1 ( 2x - -4 [ 244
= 2x3 1+T Expand 2>\3_l[1—l—7' using
\ ! 3
( (%) (—1(=2)(2x 2 the binomial expansion with
el iy (T S04 1% oo EM %, M, Dl e {20
S }._3_.| TLER n=-1and x=| |
3/
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-

1(}(3__2}_-}-1 = 1(}53[1+£], 4+—— [Take out a factor of 3.
P 3 )
o 1¢}X3_3[1—£ s Expand
\ O
- A =3)(2 5 10237 | 1+—
ab2% (—2W—3) | 2x | 3 ]
2 1—{—2}[—\—# S L il
g | 3 | 21 & using the binomial
' ; ) expansion with n=-2
u Eb_ﬁéﬂ_._] 2x
9| 3 3 and .!:—?.
e 10_40x _ 40x
o 2 72
Adding these series expansions gives
["1 2 10Y (. 4 40) C 8 40 . «+————— |Add the three series
Tty el K U 5 gy shercd |- expansions and collect
\ Frdiih Y 27 \ 2 27
= 2 45 5 it and simplify the
25 -25 25 , coefficients.
TR g

© Pearson Education Ltd 2C
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Exercise A, Question 16

Question:

When (1+ax)" 1s expanded as a senies in ascending powers of x, the
coefficients of x and x° are —6 and 45 respectively.

a Find the value of o and the value of 5.
b Find the coefficient of »*.
c Find the set of values of x for which the expansion 1s valid
Eladapted]
Solution:
\ nn-1) , ,
a (1+ax)" =1+ nax+ ( )a".r'—---
Sona=—0 and sr (1)
4+—— [Set coefficient of x,
n(n-1) e ) from binomial theorem.
2 equal to 6 and set
—6 _ : : i -
From (1) a =—. substitute mto equation (2). coef_ﬂcmnr of X" equal
] to 45.
_n(n—=1) . 30 - < Eluminate g from the
T2 n ) simultaneons equations to
361 =361 =90n" obtain equation in one
e variable .
36 =D < Solve to find non-zero
=n=0o0rn= 54 = 3 value for n.
Substitute mto equation (1) to give g =9 . +——— Check solutions in
equation (2).
. 3 oa(m=1n-2) ;
b Coefficient of x” = #l(}a
3!
_E 5 _E 5 _§ O Substitute values found for »
- 3 3 3 and a mto the binomial
3! expansion to give the
_ —80x 27 coefficient of x°
6
= —360
c ¥ l <o __1 =y l 4+—————— [The terms 1n the expansion are (9x).
a 9 9

(9x)*. (9x)° and so |9x|=<1.

© Pearson Education Ltd 2C
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Exercise A, Question 17

Question:

a Find the binonual expansion of ,f(1—x) , in ascending powers of x

up to and including the term in x°

b By substituting a suitable value for x in this expansion, find an

approximation to +/0.9 | giving vour answer to § decimal places.

Solution:

1 4 [Write the expression in
a J1—x)=(1-x)? index form.
1|—E1 1 _l'|'—3'
1 2120, w21 2 2] 3
= T gt=y = [k T
= l—lﬁ'—lxz—ll’ Repl by ! dx
5% g’ 16 eplace n }Ean x
by —x in the binomial
EXPAansion.
b Let (1-x)=0.9 and solve Simplify the terms.

Put x=0.1 into expansion

A09 1—0.05—%}' G.ﬂl—%xﬂ_ﬂﬂl

1-0.05—0.00125—0.0000625

© Pearson Education Ltd 2C

0948688 (6dp) +————

s This 1s valid as |x|<1.

This gives an estimate for
Jﬂﬁ . You would need to
calculate further terms to
mive mncreased accuracy.
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Exercise A, Question 18

Question:

Inn the binonual expansion, i ascending powers of x, of {1+ ax)”, where a
and » are constants. the coeffictent of x is 15. The coeffictents of x~ and

of x* are equal.
a Find the value of @ and the value of n.
b Find the coefficient of 1°.

Solution:

a

I[I+ru']‘ = ].+nax—@a:x: S

|, nln—=1)n— 3}03:».'5

6

Ag coefficient of x 15 13

44— |Set the coefficient of x
from the binomial theorem
equal to 15 and set the

na=15 ... (1)

: 2 3
As coefficient of x” and x° are equal: : 2 3
coefficients of x~ and x

s equal to each other.

n(n—1) L n(a—=1)(n— Na’

2 6
and . (#—2Da=3 (2) +—— [Divide both sides of the
equation by
Subtract equation on (2) from equation (1) ”(”6_]) v

2a=12=a=6

Substitute into equation (1) 4 Solve equations (1) and
(2} as simultaneous
15 5 equations and check your
= s Answer.
b Coefficient of x° is
s 3 Substitute  the walues wyou
3 3 '1 :
mfn— A3y P have found for g and » into
— ~“a = e the binomial expansion term
6 6 for
15 or x .
= — %36
g [You could also check the
_ 135 term for x* . which should be
7 equal.]
= 67.5

© Pearson Education Ltd 2C
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Exercise A, Question 19

Question:

The vectors u and v are given by
u=>5i—-4j+skv=2i+1-3k

a Given that the vectors u and v are perpendicular, find a relation
between the scalars 5 and 7.
b Grven instead that the vectors u and v are parallel, find the values
of the scalars 5 and . E
Solution:
T R
a a-v=|—4 P +— [Write 1n column matnx form.
| s ] |—3]
S v=3x2 4+ (- ut+ 53 +— [Use n-v=u;v, ~u,v, +1u,v;.
Use the condition u-v=10 4——— [For perpendicular vectors the scalar
product 1s zero.
S10—4-3s=0
o 3sbt=1 +— [Simplify vour answers.

b As u and v are parallel
v =.Au where A 1s constant.

- 2i+ -3k = A(5i—4j+ sk)

———— [For parallel vectors one vector 1s a
multiple of the other.

Compare coefficients of i, j and k.

INTAEBA. % +— [Equate the coefficients of x, y and =.
AN W S N
2
=
)‘S = _3 =& = _3‘_:_ ‘\
J
. _31_5 =—75 4——— [Solveto find the values of s and 7.

© Pearson Education Ltd 2C
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Exercise A, Question 20

Question:

Find the angle between the vectors a and b given that |aj=4.|b|=4 and

a-bl=7. E [adapted]
Solution:
i
\: ~. a—h Dt
b ko \_\ "\-\._\_\_‘_ 5
Iy \.\ T W i e
\‘;mﬁ T uﬂ.\_‘_ \.\‘_\_H \x\"-\
a o 1 A

Use the triangle law and draw two

Use the cosine rule on AOAB. triangles. One shows vectors.
The other shows the magnitudes

72 = A1 IwAdxdxcosd of the vectors.
W = 16+16—32cos& 4————— puse the cosine rule to find cos&.
= 32cosf = —17

. g = —17
ees B 32 4 [The cosine 1s negative, so the angle
58 = 122(3sf) s obtuse.

© Pearson Education Ltd 2C
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Exercise A, Question 21

Question:

The position vectors of the points 4 and B relative to an ongin O are
3i+2j—k.5i+6j+ 5k, respectively. Find the position vector of the point
P which lies on 4B produced such that 4P =38P . E [adapted]

Solution:
e
— B :;} V
! 5 4 ;f' " +—— Draw a sketch to help you to see
a', jr‘ /// the triangles used later.
h! i o
LY l.’i;'/"
0
B = o «————— [Use the tnangle law to give AB.
’ (D
= 2i+4j+6k
As AP=3BP «— As 4, B and P are points on the
and AP=AB + BP same line. one vectori1s a
- 4B+ BP=3BP __’_,_/—rf multiple of the other.
-AB=2BF T

" From (1) BP=i+2j+3k

Sap

OB+ BP
6i+8j+ 8k

44— [Use the triangle law to give OF.

© Pearson Education Ltd 2C
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Exercise A, Question 22

Question:

The points 4 and B have coordinates (2¢. 10. 1) and (3¢, 27, 5) respectively.

a Find | AB|.
b By differentiating IB| _ find the value of t for which | AB| isa
I,
C Find the minimum value of | AB|.
Solution:
2?'.& | 3¢ 4+——— [Wnite down the position vectors
a=|10| and bh=|2¢ of .4 and B.
1) 5
a
t +—————— [[Jse AB=h—a.
~“AB = h—a=|2t—10
4
— 5 T «+——— [Use the vector magnitude
{4B| = \l'rr +(2r-10)" +4 formula.

= 5P —40r+116

b AB[=5t—40r+116
Differentiating with respect to f grves
dr

2~ 10040

ar

10¢—40 = 0

Pl

+—— [Call this p and differentiate.

So / Use the fact that j—"?’j =0 ata

I .

P - Use the fact that if the second

——=10_ positive, .. minimum

|4B| = 57 -a0r+116

= J80-160+116
= J36
6

© Pearson Education Ltd 2C

derivative is positive, the value
1S A MUINimun.

a—— [Substitute r =4 back into

| 4B|.
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Exercise A, Question 23

Question:

The line | has vector equation r=11li+5j+6k+A(4i+2j+4k) and the
line /, has vector equation

r=244+4j+15k+u(Ti+j+5k).

where 4 and & are parameters.

a Show that the lines [, and [, intersect.

b Find the coordinates of their point of intersection.

Given that & 1s the acute angle between /[, and [,

C Find the value of cos&. Give vour answer i the form Iﬁ.@ . where
k1s a simplified fraction. E

Solution:
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a Assuming that the lines do intersect:
/ LA e - .5

1_1 4?’ (24474 «————— |You can write the equations of the

3+24 | = l 4+ u * lines in column vector form and put

\6+44) \13+5u) them equal.
Rearranging gives:
4 —=Tu = 13 (1)

22A—u = —1 (2) +———— [Equate the x. v and z components.
4\=5p = 7 (3)

Solve these simultaneous equations.
(1) —(3) gives

24 = 6
i = 3 \

Solve equations (1) and (3)
Substitute mto (1) to give simultancously.

4i+21=13=4A=-2
As this solution satisfies all three equarions, the lines do meet.
+—— | v components must also
be equal so

f=-=3 A =-2 must

b Substituting into * gives the coordinates of the point of intersection
11-8Y) [24-21y | 3

Tt ‘ =1 A=3 ‘=‘ 1} 4 [Substituting A or g will
L6-8) \13-15) \-2) mive the point of intersection.

2.(3.1.—2) 1s point of mtersection.

The directions of the lines are
4i+23+4k and Ti+j+ 35k

c
(+2)+4k)-( i+ 3+ 3k a-
cosf = = = e Use cosd =— . where a
NE+ 2+ 82T 412 45 a
284220 and b are the direction vectors
= ﬁ J-F of the lines.

50

- 6 5\I||l§ \
3 Simplify the surds.

e

‘\.Dl\_.ll

© Pearson Education Ltd 2C
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Exercise A, Question 24

Question:
(1Y 1)
The line /| has equation r =‘ 0 |+A| 1| and the line /, has equation
-1 o/
m (2
r={3 +u 1
\6) \-1
a Show that / and /, do not meet.

A 15 the point on [, where 4 =1 and B 1s the point on /[, where u=2.

b Find the cosine of the acute angle between AB and [, E

Solution:
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a Assume that the lines do meet:
o /‘ | pdan 8 Put the right hand sides of the
‘ O+A|=| 3+u equations of the two lines equal.

=1 \ 6—#' )

So 2u—XA = 0 n
gk =l @ ™ Equate the x, v and = components.
1 = 6-p @)

Solve equation (3) to give & =7 substitute into equation (1) to give A =14
¥~ [olve equations (1) and (3)

Check in equation (2} 7—14 = -3 to find a contradiction. simultaneously.

This implies that no values for A and & satisfy all rhree\

equations simultaneously
.. The lines do not meet.

The values g=7.4A=14
do not satisfy equation (2)
and so ' components are
not ecual.

b A is the point (2.1.—1) and <—— [Substitute 4 =1 into equation of line /.

B 1s the point (3. 5. 4)

4+— [Substitute & =2 into equation of lme I, .

el

So AB=|4 - Use AB=h—a._
5/
1)
Dirsetion of . is | 1] 4+———— [Obtain the direction of the line ]
- L0/ from the equation of /.
3] (1
4.1
c.cosf = ) 10) _31+4+047 ge cosh= i
a2+ P+ 400 V5042 cfd|
7 where ¢ 1s the vector A8
= 10 and d 1s the direction of the
line [,.

© Pearson Education Ltd 2C
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Exercise A, Question 25

Question:

The line ]| has vector equation

r=S8i+12j+14k+ A(i+j-k).

The points A, with coordinates (4. 8. a). and B. with coordinates

(b, 13, 13), lie on this line.

a Find the values of @ and 5.

Given that the point O is the onigin, and that the point F lies on [ such
that OP 1s perpendicular to /.

b find the coordinates of P.

c Hence find the distance OF, giving your answer as a simplified
surd. E
Solution:
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(843 ) — [You can write the line equation in
3 r=1243 this form.
114-2 |
(4 (8+2) As A lies on the I
son; 5.4 lies on the line equate
The position vectorof 4 | 8 | =12+ 4 “«— T "
. posttion vectors.
va) (14— 4)

wse 4=8+4 or 8=12+ 4
A=—4 —

Substitute to give a=14-1=18

(Y [8+A4°
The position vectorof B |13 | =12+ 4
W13/ \14-A4)

Use 13=12+4 or 13=14- 4

A=l a—
Substitute to give b=8+1=9 4

[ 8+ A4
b Direction OP is | 12+ 4|
\14- 1/
{314 P
and direction of ] 15 | 1
-1/
These are perpendicular
(8+4) (1)
Sp124 401 1 (=0 a—
SEEFIRESY)

S8+ A+12+A—(14—2)=0
S 34+6=0

= i=-2

- Point P is at (6. 10. 16)

c
Distance OF =

= V392
= 1442

© Pearson Education Ltd 2C

_——— [Use the x or v coordinates to find A.

4+—— [Find a using the value of 4.

4——— [Also B lies on the line.

— [Use the y or z coordinates to find A .

Find b using this value of A.

This 1s obtained from the equation of /).

—— [Use the condition for perpendicular
lines, c-d=0.

_— [Substitute the value of 4 into the
line equation to give the coordinates

of P.

J6* —10* 16° ¥ [Use the formula for magnitude of a

ector.

*—— |Simplify the surd using

V392 =19642 .

Page2 of 2
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Review Exercise
Exercise A, Question 26

Question:

The line /| has equation

(3 (1) [0Y (1)
r=|1{+.4| —1| and the line /. has equation r=| 4 |+ u —1‘.
\2) \4) ) \—=2) Lo/
Find, by calculation,
a the coordinates of B. the point of intersection of /, and /,.
b the value of cos&. where & is the acute angle between [, and /.

(Grve your answer as a sumplified fraction.)
The point 4. which lies on [, has position vector a=3i+ j+ 2k . The pont

C, which lies on [, has position vector ¢ =5i—j— 2k . The point D lies in
the plane ABC and AFCD 15 a parallelogram.

c Show that |E|= BC|.

d Find the position vector of the point D). E

Solution:
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+— [You can write the equations in this

form.

Put the x, y and 7 components equal and

rearrange.

a As the two lines meet:
[3+AY [ m )

1-4 =‘ 4—u
\2+44) \ 2/
u=\ = 3 0 /
—p+=A = =3 (2)

4 = —4 (3)

Solve equation (3) to give A =—1
Substitute this value into equation (1)

Then =2 o ———

- Point of intersectionis (2.2 —2) o

/ [Use equation (3) to find A.

Substitute A into equation (1) or (2)

~ ) tofind g

the coordimnates of B.

Use M\ or i in the line equations to find

(1Y (1)
b The directions of the lines are | —1| and | -1 ‘«\ S—
] | The directions of the
4 L0 lines are from the line
sl = lﬁx 1+ (—}] . {1—1};" 4x0 : equation.
P+ (1) + 812+ (1) ‘K
Use cosf=—2

Vig2

_ 1
3
C
4B = h—a=—i+j—4k
BC =
4B = -0 +r +(9) =18 =32
BC| = :
| AB|=| BC |
d
-",-‘ﬁ”
7
/ /
5; /c
Bd = cD

B4 = i—j+4k=CD

0C+CD

Also

© Pearson Education Ltd 2C

«——— [Praw a diagram and label the

«———— |Jse the fact that opposite sides

(Gi—j—2k)+(i—j+4k) e naict
thet g .
6i—2j+2K) «—— |Use the tnangle law

x|y]
where x and v are the

directions of the lines.

c—h=3i—-3j [Use the tnangle law to find

AB and BC.

Use the formula for the
magnitude of a vector.

wertices of the parallelogram as 4, B,
C and D in a cyclic order.

are equal and parallel.

Page2 of 2
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Review Exercise
Exercise A, Question 27

Question:

The pomts 4 and B have position vectors 3j+11lk and eci+dj+21k
respectively. where ¢ and d are constants.

The line AB has vector equation

r=23j+1lk+ A(2i+j+3k).

a Find the value of ¢ and the value of 4.

The point P lies on the line 4B, and OP is perpendicular to the line 48,
where O 1s the origin,

b Find the position vector of P.
c Find the area of triangle (248, giving your answer to 3 significant
figures. E
Solution:
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7% ) 4+—— [You can write the line equation 1n
P this form.
r=| AT3
| 3A+11]
a As B lies on the line

2A=c(A+5)=d 34A+11=21
- Solving 54+11=21_4=2 4——— [Use the = coordinate to find the
wvalue of A .

and substituting mnto other equations

gives c=4.d=7. q—._ﬁ,________‘__——
Find ¢ and & using the value of

A.

=0 -

[ 24 1 )
o —

b A+3 =
p | use OF.v =0 where v 1s the
3A+11/ 1\ 5) J k

N i

direction of the line and 1s obtamned

- from the equation of the line.
2240+ 1{A+9)+23004A+11D) =0

S 304A+60=0
LA=-2
(4} o [Substitute A=—2 into the
~. P has position vector | 3 equation of the line.
V1)
1 — — y
s Area of AOAB=—|04|-| OB |sinBOA
o 2 4+ [Use area of triangle 1s
. 1A - 1 y
and cos BOA = ﬂ — absin C.
|OA|-|OB| 2
[0} (4
04=| 5| and OB=‘ 7
1y \21)
i Ox415%TL11x2] +— Use the scalar product to find the
;. cos BOA

2 3 2 3 % 3 1 IJ T a d@
\/(U'—5'+11'}\/(4'—?'—|—21-} angle between an

266
41464306

= 0.9787 (4s.1£)

“BOA = 1186 (4s.£) Substitute +/146.+/506 and angle
- Area = 279@(3sf) 11.86" into the formula for area of

A triangle.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 28

Question:

The points 4 and B have position vectors i—j+3k and 4i+3j—2k

respectively.
a Find | AB|.
b Find a vector equation for the line | which passes through the

points 4 and B.
A second line [, has vector equation

r=6i+4j—3k+ pi+j-k).

c Show that the line [, also passes through B.

d Find the size of the acute angle between [, and /,.

e Hence. or otherwise. find the shortest distance from 4 to /,. E
Solution:
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[Use the tnangle law.

a a=i—j+3k.b=4+3j-2k
E = ]j—a .
= 3i+4j—3k
JAB| = |3 +424(-5)" <
= /50 or 542 or 7.07
b r=i—j+3k+A(3i+4j—3k)
o1 -

r=4i+3j— 2k + uGi+4j—5k)

€ Tr=6i+4j—3k+u2i+j—k)
passes through 4+ 3j—2k
then 6+2u = 4
4+pu = 3
—3—f = =2
As pi=—1 satisfies all three equations, the line

passes through B as required. =

d The lines have directions
3i+4j—3k and 2i+j—k
If the angle between the lines 1s & then

-
(3i+4j—5k)-(2i+]—-k)
cosfd = . T e — '
|3i+4j—5k| 2i+j—k|
32+ 4x14+- () x(-1)
V5042 412 (-1
_ 15
J50+/6
‘—
B
Secosf = —
2
andd = 30°
e
A
’f/ - SN
et lp
4 o ——

Use the formmula for the
magnitude of a vector.

There are other forms of this
equation. but these two are the
siumnplest.

+———— [Equate x, v and z components.

Solve for 1 and check that u
katisfies all three equations.

- c
Use cosf = where cand d

c|d
are the directions of the lines.

This answer 1s acute. If your
answer 1s obtuse, subtract 1t

from 180°.

Draw a diagram showmg /.7,

with common point B

4— [The shortest distance 1s the
perpendicular distance.

Use trigonometry sin 6 = —.

| 4B

Page2 of 3
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Exercise A, Question 29

Question:

The pomnt 4. with coordmates (0. a. b) lies on the lme [ . which has

equation
r=6i+19j—k+ A(i+4j-2k).
a Find the values of @ and &.

The pomnt P lies on /; and 1s such that OF 15 perpendicular to [, where O

1s the onigin.

b Find the position vector of point P.

Given that B has coordinates (5. 15, 1),

c show that the points 4. P and B are collinear and find the ratio
AF:.FE. E

Solution:
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[ 6+ | 4——————— [You can write the equation in
" ” =j19 L4 the form.

{-1-2
~6+% = 0 (1) +——— [Equate x, y and = coordinates of 4 to
1944 = g ?) those of the line.
1-20 = b (3)
From equation (1) 4 =—6 «— [Find A from equation (1).
Substituting this value for A into equation

(2) gives a=—3
Substituting 4 = —6 into equation (3) gives b =11 Find a and b using this value
of A .

(6+4) (1)
b OP=|19+44 4 ‘

\-1-24/ '_\‘:
The directions of OP and of L

As OP is perpendicular to /.

and ! 1s in direction

are obtained from the equation
jof the line.

[ 64+4 1{ 1

19+44|-| 4 |=0 - [Use condition for

\apesg) \an) perpendicular lines,
c-d=0.

L6+ A+4(19+44)—2(-1-24)=0
ie 844214=0=4i=-4

- OP=12i4 3§+ Tk - !ﬂﬁtlrute A =—4 back into vector
Elhe OF .

c 04=-5j+11k

L AR O =04 28 1 4+—— [Find AP using triangle law.

0B =5i+15j+k _
- PBE=0OB—0OP= 3i+12j—6k Find FE using triangle law.

3

. AP=—PB = vectors are m the same direction, and as they have a pomt mn
3

mmon they are collinear.

Ratio
AP-PEB = EE PB 4——— [Note that each of these vectors 15 a
3 multiple of i +4j—2k and so one
v 1 1s a multiple of the other.
3
= 2:3

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 30

Question:

The pomnt 4 has position vector a=2i+2j+k and the point B has

position vector b =1+ j—4k . relative to an origin 0.

a Find the position vector of the point C, with position vector c,
givenby c=a+h._

b Show that @4CH 1s a rectangle, and find 1ts exact area.

The diagonals of the rectangle, AB and OC meet at the pomnt D.

c Write down the position vector of the point D.

d Find the size of the angle ADC. E

Solution:
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a
c = a+th
= (2i+2j+k+0+j—4k)
= 3i+3j-3k
h As O4=BC and OB=AC OACBisa parallelogram.
Asa-bh=2+2—-4=0 — —
4 i penpendicilar o b \ ppposﬂe sides are equal and parallel
S OACE 1s a parallelogram with all A djacent sides are
of its angles right angles 1.2, it 15 a rectangle perpendicular.
Its area = a|x|b]|
= VP2 PP 4T e
s 3342 Use the formula for magnitude
- > of a vector.
. 9.2
c The diagonals bisect each other. D is the mid-point of OC. and of
) 3 g 4B,
d=li+ -2k
Qi i w2
d
AD = d—a= —%i—lj—ik 4+— [Use ﬂilrianglaw to_ﬁnd AD
2 2 ; and CD. or DA and DC .
—— X Ay
CD = d—c ——51—?_!-0-51{
. AD-CD -
s.cosdDC = ————— 4 [Use the formula cosf=—
AD||CD| |x|¥
é_i_l_z' with x= AD and _1.'=E.
— 4 4 4
\/ 1., L. 25 \/9 9 9
Frh G [
4 4 4¥4 4 4
2
= _4
27
4 +— |As cos ADC is negative, angle
ik __1 4 DC 15 obtuse.
3
~ADC = 109.5°(1d.p.)

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 31

Question:

Relative to a fixed origimn O, the point 4 has position vector 3j+ 3k and
the point B has position vector 31+ 2j—k

a Find a vector equation of the line L which passes through 4 and B.
The point C lies on the line I and OC is perpendicular to L.
b Find the position vector of C

The pomts O, B and A4 together with the point D) lie at the vertices of
parallelogram OBAD.

C Find the position vector of D.

d Find the area of the parallelogram OBAD. E

Solution:
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0
a a=|3| and h=| 2
15) 21
AB = b—a.
e (0
Using 4B = | 2 |—|5
_1. .'i
3)
= —3
—6]

An equation of the line 15

(0 (1] {3 (1)
r= 5§-H-.§—If or r=§ 2 |4+pl—1
S I e A
h C lies on the line
AT TR e
OC=| 3—Ad |or| 2—u
\5—24 \—1—24
(11
The direction of L 1s | —1
=2
As OC 1s perpendicular to L
[ A {1}
-4 -1{=0
\5-24) \-2)

S A-(5-A)-2(5-21)=0

1e.,

4+—— [The position vectors can be

written 1n this form.

|L_5E‘ the triangle law.

Page2 of 3

, 4+—— [You might have found

(1)
1
=y,

W

BA and used

You only nead one
form of the equation.

You obtain your directions
from the equation of line /.

Use the condition for
perpendicular vectors
x-v=0.

You could have used
{ 3+m (1)

\ 2—p ‘ —115 to obtain
—1-24) \-2)
—1

1=—.
“{2

Substitute your value of A (or )

6A-13 = 0
15 5
__).1_:— — iy,
6 2
5)

2| -
“oc=|2
21
2l
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c
A
sl D ketch of parallel
st N raw a sketch of parallelogram
2 \C \\‘ / (OBAD. labelling vertices in order.
P
= e
0D = B 4——— Opposite sides of a parallelogram are
s —E(fcun din'a) equal and parallel.
= —3i+3j+6k 4——— [This 15 the position vector of D.
d Area of parallelogram OBAD

= 2% Area ofA OBD
|OB|%|0D)|xsinf *

where & is angle between OB and OD. +— [Think through the method that you
d will use before you begin.
use cosd=—— to find 8.
g g b T _3 :
b-d = 2 3| - [Use the formula for scalar product.
!
', _1 PN r
= 3Fx3+2x3+(-1)x6
= -9
b| = |'(33 122 4(-1)) «— [Use the formula for magnitude of a

ector.

E iz
[d] =  J3)2+3+6°

iy i [You could use a calculator 1n this
7 ; / kuestion.
e DT

ccosfd = :
\"ﬁﬁ (Give the answer to 3 significant figures
L8 = 109.1°(4 1) 1f vou use a calculator.
s Area = 14x+/54xsin109.1 The exact answer is 15+/3 and is easier
to obtain using further mathematics
= 26.0(3s1) : S
techniques 1.e. vector product.

© Pearson Education Ltd 2C

file://C:\Users\Buba\Desktop\further\Core Matheroga#\content\sb\content\c4 rev... 3/22/201.



Heinemann Solutionbank: Core Maths 4 Pagel of 1

Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 32

Question:

Find the gradient of the curve
3x —2.1:];'+.1-': =17
at the point with coordinates (2. 1) E

Solution:

3 -2y +3 =17

Differentiate with respect to x:

4——— [This 15 an implicit differentiation as
vou cannot make v the subject of the

9x? —| 252 i_ 43.1'_' formula.
2 d-Y i I \
+3° d_ ] Use the product rule to differentiate
dx the 2x*y term.

> ; Use the chain rule to differentiate 3.
Substitute x=2_y=1

85 o] B
¥ |:E_,r i 8_1 7+ SE & Differentiate 17 to give 0.
28-5% :\
dx 2 dy :
You can make — the subject of
& 98 dx
e the formula before substituting
dx H x =2,y =1 but the algebra 1s more
e B difficult.
2 !
dy 9x —4
You would get = 1—111 j
de 2x -3y

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 33

Question:

A curve has equation

X +2x-3y"+16=0.

: \ : dy
Find the coordinates of the points on the curve where d—l =0 E
X
Solution:
4+ 2xy-3y+16=0 . (1)
Differentiate with respect tox.  4+—— [Use maplicit differentiation as it is
awlkward to make v the subject of the
Ix+ 2.‘c£+21 '—6J'i fonunla.
de | dx
+0=0 «+—— [Use the product rule to differentiate

the 2xy term.

dy [Use the chain male to differentiate
Put e 'D 3
3 =3y
S 2x+04+2y-0=0 Differentiate 16 to give 0
re. Ax+y)=0 -
e
E Find the relationship between x and v
"'Iz__‘}' o . ) when i=ﬂ.
Substitute this into equation (1) dx
j_: _ 23.: =34 1,16=0 « S_olve equations {1]_ and (2) as
simultaneous equation.
Syt = 16
Ly = %2
x = F2

: ., dy
: 2 s 0 3 _7 -
The points at which i 0 are (—2.2) and (2,-2) D i e e

and y to give the required
coordinates.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 34

Question:

A curve C 1s described by the equation

3 =2y +2x—3y+5=0.

Find an equation of the normal to C at the point (0, 1). giving vour answer
in the form ax+by+c =0, where a, b and ¢ are integers. E

Solution:

3Ix' -2y  +2x—3y+5=0

Differentiate with respect to x <+— [Use implicit differentiation.
Then
6.‘(—43'£+ 2—3E—l{} =0
dx dox
A
Use the chain rule to differentiate
Substitute x =0y =1 then _ -2y~ and —3y.
—4% +2-3 3—1 =0 T Z
_ . You could make — the subject of the
T odx formula before substituting x =0, y=1.
. dy 2 ' 42
iy = In this case O _Said :
dx ] de 3+4y

The gradient of the normal to C at (0.1) 1s % 4— [Jse the result that mm' = —1
for perpendicular lines.

-

.. Equation of the normal 1s y—1= _T(l -

- This could be obtained directly

1e. y=—x+1
2 from yv=mx—+c.

of Tx+2y—2=0

zive the answer in the form
required by the question.

F

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 35

Question:

A curve C 1s described by the equation
3 +4y —2x+ 63y —5=0.

Find an equation of the tangent to C at the pomt (1.—2). giving vour
answer in the form ax+by+¢=0, where a, b and ¢ are integers. E

Solution:

/ Uze mmplicit differentiation.
I +4y —2x+ 6xy—5=0

Differentiate with respect to x - : : : -
————— [Use the chain rule to differentiate 4y~ .

& . [, d
6x+8yL— 2+[5xi—ﬁ;} —0=0

o dx = = s
+—————— [Uze the product rule to differentiare 6xy.

Substitute x =1, y=-2

Then

Ty dy ¥ 7 ;
6—161—2+6'—1—12=D < If vou rearranged vou would get

dx dx dy 2-6x—06y

dx 8y+6x
—8—1{?£=
dx

dy_-8
Cdxe 10

Gradient of the tangent ar {1.—2) 1s —% .

. Equation of the tangent is

(y+2) = —_S(I —1) « Use the equation on
10 y—y=m{x—x).
_ i —8 8
il e w e B e S e
’ 10 10
S 10p+8x+12 = < Multiply by 10 and collect the

terms as required by the question.

1e.dx+5y+6

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 36

Question:

A set of curves is given by the equation sinx+cosy =03

e . ) . dy
a Use implicit differentiation to find an expression for —.
X
For —7=x<mgand —7=y=n.

b find the coordinates of the points where :._‘ =0. E
A
Solution:
a sinxy+cosy=03 =

Differentiate with respect to x:

o dv
cosx—smy—=20
< [Use the chain rule to differentiate
cos ).
_dy  cosx
Tdx  sin 3 e —— & _
Make E the subject of the formula.
dx
dy
h When —=0.
d}‘
cosx = 0
L7 “« (Give answers in the range
r = Iz —T<x<I.
when x= 7‘ substitute into *
l+cosy = 0.5 _ _
: s (Give answers 1n the range
Scosy = -0.5 )
—A<Y<T.
2r 2x
Ly = or .
3 3
! . .
when x =—— substitute into *
—l+cosy = 03 e lAs cosy cannot be greater than 1
e this equation has no solutions.
Scosy = 15 4 1
e ; x 2r T =2
. Stationary points at (—,—) and (—, }
2 3 2 3

only in the given range.

© Pearson Education Ltd 2C
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Solutionbank C4
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Review Exercise
Exercise A, Question 37

Question:
a Given that ¥y =2", and using the result 2* =&™ | or otherwise,
d '
show that —=2" In 2.
d
b Find the gradient of the curve with equation y=2"" at the point
with coordinates (2. 16). E
Solution:
:l -
y = 2= JE You usedrhe result that if
ik B
d;l = In2e™? =2 T dx
dx
= In2(®)
= In2x2" = Note that ™ =2
or
y = 2
Iny = In2*
o2 sy 4 You could use a different method.

by taking logs of both sides and

Differentiate with respect to x: et o
usmg implicit differentiation.

1% _ s
v dx
d—l = ykn2

d.l-

= 2In2
b
na? +———— [Use the chain male.
Y = - £ean ) . £
dy 3 If y = T""‘.d—J= F(x)2 P m?2.
= = (222 2 dr
dx
When x=2
P, 4x2'In2
dox
= 64ln? «+——— [Substimte ¥ =2 info your expression.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 38

Question:
Find the coordinates of the minimum point on the curve with equation

y=x2*. E

Solution:
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yo= x2° *
dy
d

= 2" (xIn241)

At a minimum point,

= x-2mm2+2x1

Substitute mto * to give:

—1 -1

4+ [Use the product rule.

'

Put £=ﬂ and solve.
di

Substitute x value into the equation

3 g >\EI:L'-' -

n2
< i

T m2 &
3%

1

Let 202 =y

miven, to find y.

&

Take lns of both sides

In

-
[ ]
=)
:
1l

So—xIn2 = lnu

1e. mu=1=2u=e.
Substitute back into T

-1

.1I A=

You may simplify 282° =e

eln?2 -

. minimum point 15
i _] —]. ™
\In2 eln2/

at

© Pearson Education Ltd 2C

To check that this 1s indeed a minimum
point you would need to find

d'y , ,
d1L1 =2In2(xIn2+2)
Mg this 1s posifive at x = e the turning

point 1s a minimumn.
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Review Exercise
Exercise A, Question 39

Question:

The value £17 of a car ¢ vears after the Lst January 2001 1s given by the
formula F"=10000=(1.5)7".

a Find the value of the car on 1st January 2003,
d¥
b Find the value of ' when r=4. E
ar
Solution:
a I =10000=(1.5)"

On 1st January 2003, r=4

o

10000 (1.5)~ +———— [Give your answer to a suitable
£1975.31Q2 d.p) accuracy.

ar

1 —10000%(1.5)" xIn1.5 <———— [Differentiate and substitute =4
ar

~800.92 2dp)

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 40

Question:

A spherical balloon 1s being inflated in such a way that the rate of increase
- r 3 - - 3 :
of its volume, 77" cm’ , with respect to time ¢ seconds is given by

dV & sy iz
1 = 7 where I is a positive constant.
if fa

(Given that the radius of the balloon 1s # cm. and that 7 = %m'z.

a prove that » satisfies the differential equation
dr B .
—=— . where B is a constant.
dr
b Find a general solution of the differential equation obtained in part
a. E
Solution:
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v = -m T IYouneedto find = in order
=

di 5 : 7

= d4mp- = to connect i and — _ using
dr dr dr

Use the chain mle: the chain rule.

w_ar

dr dr dr

dif k drv .
Substitute — = — (given) and — =47 (from =)
¢ ¥V dr

mto the chain rule:

i = 4 xi
V dr
i E E+ 4
dt V
k | - .
= o ok P * Substitute = gm" and note that
—qr
3 o
12 = o 15 the same as * by . -
= i 1 47
167
b Separate the variables.
[Far = [Eia
. < lom”
L8 - -
L 3k A ———— Integrate each side and include constant
6 167" of integration.
1
[ 9% 8 - :
o = = t+4 | 4——— Multiply by 6 and take the sixth root to

\ 1ve 7
A'=64.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 41

Question:

At time r seconds the length of the side of a cube is x cm, the surface area
of the cube is § cm’ . and the volume of the cube is V' cm’ .

i 3 T =]
The surface area of the cube is increasing at a constant rate of SEcm™ 7.

Show that
dv k& .
a T =— _ where T 1s a constant to be found,
dr «x
dF & 2}}3 .
dr
Grven that 7' =8 when =0,
C solve the differential equation in part b, and find the value of ¢
when V7=162 . E
Solution:
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Let S be the surface area

a -
61 / each of area x~.

Blg @

12x

The surface 1s made up of six squares

Differentiate to give i

Given that — =8 . - :
d - [This comes from the information

t

ds dS dx

¢ by
a constant rate of 8cm™s™ .

that the surface area 1s increasing at

Use ~m—ge=—
de dx dr ‘\
Use the chaimn rule to connect

8 = 12x % — EE and E
dr dr dx dt
cdx 3
dt 12x \
8 .2 dv
= —wherek=—=— MMake — the subject of the formula
X 12 3 dr
i}
V = x < The volume of a cube is .

Nl

Use
dir dlVf  dx
— = ey ———
dr dr dr
= 3x'=
X
= 3kx=12x
Ly e e
= W3
c Separate the varniables
dF ¢
[ i | 2de
I3

Fa SR i B
2

But " =8 when t=10

= 45! b e
dl. d I’,

Differentiate to give —.

dx
Use the chain mule to correct ﬂ db
dr  dy
and E
dr

As F=x" sox=F"

—— [Integrate and include an arbitrary

constant 4.

Use the initial condition to find 4.

Page2 of 3
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Tl B
2
when
¥ = 16\’5 + Substitute 7= lﬁﬁ into the solution of
; B ,}% the differential equation to find 7.
= 7

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 42

Question:

Liquid is poured into a container at a constant rate of 30 cm® s~ . At time 7

.
5 g : L ¥ = 1 . |
seconds liquid 1s leaking from the contaimner at a rate of —F cm’™ 57 .

where 7 em’ is the volume of liquid in the container at that time.
a Show that

—15£= 21 —450.
dr

Griven that 7 =1000 when r=10,

] find the solution of the differential equation, in the form 77 =£(r) .
c Find the limiting value of Fas r — @ E
Solution:
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his 1s liquad being poured in|

¥

dF =30—iV

a

nd increases the volume in
he container.

dt 15
Multiply this equation b}f‘N _ : _ :
This 1s denoting the ligud leaking out,

dr

=15—=2V =450

d?' \
b

Separate the variables:

- —15dV _
J m—.ff‘*‘

e This answer was given in the

k0 decreases the volume in the contamer.
So you need a minus sign.

question.

Integrate and include a

15
_Tln |2V —450=t+c

Given that 7" =1000 when r=10

—15
.-.%mlsﬁo = =
o S5 O30,
g 1550 '
F__"1 .y
(L F 235 _ 2,
775 1
V—225 3,
. e s e 15
775
-V = 20547756 &
C As r—bm_eqﬁr—}ﬂ ‘\

o limiting value of 715 223

© Pearson Education Ltd 2C

constant on one side of yvour
Equation.

Use the initial condition to find c.

Collect the two In terms together

?[mizrf—ﬂfjﬂ}—mlﬁﬁo]

_15, 27450
2 1550

Take exponentials of both sides.

Make I the subject of the formula.

Page2 of 2
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Review Exercise
Exercise A, Question 43

Question:

Liquid is pouring into a container at a constant rate of 20cm’ ™ and is

leaking out at a rate proportional to the volume of the liquid already in the

container.

a Explain why, at time ¢ seconds. the volume, cm’ _ of liquid 1 the
container satisfies the differential equarion

dV’

dt
where I is a positive constant.
The container 1s initially empty.
b By solving the differential equarion. show that

=20-kV,

V=A+Be"

giving the values of 4 and B in terms of k.
ra

(iven also that =10 when r=35.

dr
c find the volume of liquid in the contamner at 10 s after the start. E

Solution:
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4

1

a Rate of change of volume is cm’ s

dr
1

Increase is 20 cm’ s~

4 Explain the minus sign
Decrease is k¥ em’ s~ . where k is constant of proportionality. pnd the function of the
constant &

i =20—kV
dr
h Separate the variables:
{ di’ o i ds
S20-kF - You need to include a constant of
1 / integration c.
—Elng W-kV|Et+c
When =07 =0 4 You were told that the container was
1 initially empty 1.2, F=0 when r=0.
—E In20 = & ‘___‘—H_h_\
Use this to find ¢
1. 20-&kF

——In =
k20 e

— [Combine the two in terms together as

Multiply both sides by —&

1 1. 20-kV
_?:' m(20—-kF)—In20)= —Eln 20
20-kF =
Sn WM —kt
20
20-kV = o7 4—————— [[ake exponentials of each side.
20
~kV = 20-20e"
G E_ Ee—h s+ #4————— [Rearrange to give V' as the subject of the
- kEok formula.
20 20
te. A=—and B=——
k
Differentiate the equation *
c
e 7
dr _ 20 S Differentiate to give ﬁ
dr !
: ; dF 2
Substitute — =10 when +=35
dr
-10 = 207 +—— nse the given information to find &
2 —i ]'
o = =
i
Taking Ins:
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-5k

Inlor Sk=In2
2

ik

%mz or 0.1386 (4 d.p)

Substitute mto equation *

_ 100 100(1 L 4—————— |This 15 the particular solution of the
V= w? m2t2 | differential equation.
When r=10
y - 100 100 1
In2 In2 4
" 75
- n2

TSy A (Give 7 to a suitable accuracy.

or Volume =108 cm’ (3 s.f)

© Pearson Education Ltd 2C
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Exercise A, Question 44

Question:
2x-1 : i .
a Express —————— 1n partial fractions.
(x—12x—-3)
b Given that x = 2 | find the general solution of the differential
equation

(2x— 3}{_1‘—1}% =(2x—1)y.

c Hence find the particular solution of this differential equation that
satisfies ¥ =10 at x =2, giving vour answer in the form y=1f(x).
E
Solution:
a
2ol A4 B 4 Use denomi -~1) and
D=3 =D @x=3) (:e d ;r;ommamrs (x—1) any
A=-1land B=4 = i
__\_\_\_—_—_—\—\_
—— Compare numerators to find 4 and
2x-1 -1 4 : :
+ * B (see earlier gquestion 1).

T -D@x-3) x-1 2x-3

b (2;‘—3}(1‘—1)%2 (2x-1)y
X

Separating the variables.

{d_l s [ (@x—1)dx 4 [Usethe partial fractions from part a to
Sy " (2x-3)x-1) split this fraction.

Sy = { ! dx—'Fq 4 —dx

"x-1 " £X—3 4—— [These fractions can be integrated to give
= —In|x-1|+2In|2x-3|+c In functions.
Iny = —In|r—1|+n(2x-3)"+InA
. [Express the constant as In 4.
Iny = ]:11;1M
(x—1)
2 e Combine the In terms nsing the law for
A(2x—3) 5
Ly o= B combining logs.
= : } \
17 ) = . -= 7

£ Given y =10 when x=2 Make v the subject of the formula.
S10=4 «

lANdiscbm e, T — [Use the given coordinates to find the

. walue of the constant.
G 102x -3y
(x-1)

© Pearson Education Ltd 2C
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Exercise A, Question 45

Question:

The rate of decrease of the concentration of a drug in the blood stream is
proportional to the concentration C of that drug which 1s present at that
time. The time ¢ 15 measured in hours from the administration of the drug
and C 1s measured in micrograms per litre.

a Show that this process 1s described by the differential equation
dC - : .
Y =—kC , explaining why & is a positive constant.
ar

b Find the general solurion of the differential equarion, in the form
C=1f(1).

After 4 hours, the concentration of the dmig in the blood stream is reduced
to 10% of 1ts starting value C,.
c Find the exact value of i E

Solution:
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1C
a c{? 1s the rate of change of concentration. +—— Explain the term %
b —kC . b k is th f ionality
v . because & 1s the constant of proportionality. o Explain the nature of k.
The negartive sign and & = 0 indicates rate of decrease.
b Separate the variables. \\ Explain the negative sign.
I s I "Ll
J o .
InC = —kt+ln4 «+——— [Give the constant of integration as In.A.
where In 4 is a constant.
© — " ibie R A
T ln— = =k ‘ombine In =In 7
A E
o i +-
o = B TR Take exponentials of each side of the
C o Equation.
c When t=0,C=C|
‘R The starting concentration 1s C, .
=C, = A
5 C _ Cu i
S The concentration 1s 10% of its starting
when =4 0= i(-, 4/”/ walue after 4 hours.
T
1 sk
... ﬁ Cl:' = Cnf
s o= 10
te.dk = Inl0 ____— |As an exact value of & 1s requured — give
b llnl[] g T this answer.
2 2

© Pearson Education Ltd 2C
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Exercise A, Question 46

Question:

A radioactive isotope decays in such a way that the rate of change of the
number, N of radicactive atoms present after ¢ days. 1s proportional to N
a Write down a differential equation relating N and ¢,

b Show that the general solution may be written as N = 4e™™  where
A and k are positive constants,

Initially the number of radioactive atoms present is 710" and 8§ days

later the number present is 3% 10"

c Find the value of k.
d Find the number of radioactive atoms present after a further § days.
E
Solution:
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o is rate of change of V.

dV e " ik / dr
a = —ilV , where & 15 a positive constant.
df -«

—_—

k15 the constant of
proportionality.

] Separate the variables
AN : — sign because "decays’
J v = J k dr implies that Vis decreasing.
N = &tlhhde = :
, — [Put vour arbitrary constant as
‘bl = ke n 4.
:I-d—-—__%_______
N - ——— [Collect the In terms, as
e = g N
A InN-lnd=In—.
- N - .‘if‘_h * A
c When ¢t =8, N=7x10" — —
710" — A T [Take exponentials to give the
S =_

h 8. N=3x10" required answer.
when r=8.N=3x

- 3x107 =

Initially — means when =0

gx substitute into equation *

se =
= Substitute r =8 N =3x10"" and
A=7x10" into equation *_
o8k =
1 707 —— [Take Ins of both sides of the
Lk = Ehl[? |= 0.394 (3 s.1) Equation.
d When r=16 o

- |After a further 8 days means that t =16 .

T
3 Ip—

N = Tx lD}Se_- I'.T \
o’ i s . 70
= Tx10%=e ¥ Substitute 4 =710 __.{-.rz._]nT Jiites
—  Tx10% x equation * .
4900
= 1286x10°@sf) *+——  [Give YVOUr answer to an appropriate
Accuracy.

© Pearson Education Ltd 2C
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Exercise A, Question 47

Question:

The volume of a spherical balloon of radius » em is I em’. where

3
., d¥
a Find —.
dr
The volume of the balloon increases with time r seconds according to the
formula
d¥V 1000
S — )
dt (2r+1)°
b Using the chain rule. or otherwise, find an expression in terms of »
and ¢ for o ;
dr
c Given that F=0 when r=0, solve the differential equation
dir 1000 R
—= — to obtain 7 in terms of .
dr (2e+1)
d Hence, at time ¢t =13,
i find the radius of the balloon, giving your answer to 3
significant figures,
ii show that the rate of increase of the rads of the balloon 1s
approximately 2.90x107 ecms™ . E
Solution:
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4

V = —m

3

i = Am

dj'
h From the cham rule:-

E = ¥ * i < Use the chain mle to connect

dr dr dr dIr dr dr

s & w
o 1000 F e '
dr (2r+1)
1000 , dr

s = = dar” x—

(2e+1) dr

dr 250
S— = e U -— dr i
dr T2r+1)yw Make % the subject of the formula.
f
c dV o 1000 i
dr (2r+1)

Separating the variables.

I"dif’ =

V=

But I"=0 when r=0

S0o=
1e.c =
ol
d (i)

(1)

[ 1000 e

This integration 1s reverse of the
k_'_,..--""_f’ chain rule.

(2r+1)°

T e

Do not forget the constant of
integration. .

—300+c¢
500 -
00— 500
(2t+4+1)
When t=35.
V = 5DD—L.G
11
= 4545---
Using
P e gdsasys
3
A 477 (3s.£)
Substitute »=4.77. r =3 into *
_dr

s —=00289.__~290x107
dr

© Pearson Education Ltd 2C

Use initial conditions to find ¢.

to find the radius »= |-

Find volume and then use V' = %ﬂ

3

+—— [Use the answer to part h.
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Exercise A, Question 48

Question:

A population growth is modelled by the differential equation ;E=ﬁ:z”,
r

where P 15 the population. r is the rime measured in days and ¥ 1s a
positive constant.
Given that the mnitial population 1s F.

a solve the differential equation. giving P in terms of F. fand ¢.

Given also that £ =25,

b find the time taken, to the nearest minute, for the population to
reach 2F, .

In an i1mproved model the differential equation 1s given as

dP

1 = APcos At. where P 1s the population. t is the time measured 1n davs
¢

and A 15 a positive constant.
Given, again, that the imtial population 1s F, and that time 1s measured n

days,
c solve the second differential equation, giving F mn terms of F. A1
and 7.
Given also that A =2.3.
d find the time taken, to the nearest munute, for the population to
reach 2F, for the first ime, using the improved model. E
Solution:
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a

@ _.r
dr

Separate the variables.

£ -
' In F, 1s the arbitrary constant which 1s
‘P = k+lmB —m |

found from the imitial condition.

(as P=F, when t=0)

S InP-InF =ikt
ln£ = &
r
: o e
1.e. . F *_ = - [Collect the two In terms and vse the
L —
o IawthathaP—mPD:]‘ng.
% " amar 5 — 2
b Substitute k=2.5 and P =2F, Take exponentials and make P the
: subject of the formula.
2F, = Pe”
aal— 2
S25t = In2 4 Take Ins and make ¢ the subject of the
1 formula.
s = —In2
Za
= 0.277. . days
— 665n [The units are days and need to be
— 6139 mi converted to minutes, so multiply by 24
= munutes then by 60.
c —= APcos At
Separate the vanables.
{E = {.E cos Ar dt
u P =
SZInP = smAi+InF
P
Sln— = sin At
R
g poini The method 1s similar to that used in
L part a.
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d Substitute P=2F, and A=25
ei'_u] 51 i 7
sin2.5r = In2
25t = sin'(ln2)
t = 0306days «————— [Use radians to calculate sin™ (In2)
= 7.35h
= 441 mins or
Th21min 4-———— |Again change the time from days to
minutes.

© Pearson Education Ltd 2C
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Exercise A, Question 49

Question:

R

0 02 04 06 0F 15
The diagram shows the graph of the curve with equation

y=xe™ x>0.
The finite region R bounded by the lines x =1, the x-axis and the curve 1s
shown shaded in the diagram.

a Use integration to find the exact value of the area for R

b Complete the table with the values of ¥ corresponding to x =04
and 0.8

X 0 02 04 0.6 08 1
y=xe’* 0 029836 1.99207 7.38906

c Use the trapezium mle with all the values m the table to find an
approximate value of this area. giving vour answer to 4 significant
figures. E

Solution:
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1
1 hetds [ EE Let u=x and — =&*
v d}_ -l
du
o= x=—=1
dx
e o2 l 3% i: - S Complete the table for w, v,
2 dx du d dv
Use the integration by parts formula dx b do
. Take care to differentiate u
r 4 1
A i v
I = I_%J‘ e’ | — {1 (le'x dx but integrate %

_]EI .E 2 ‘\ {

L] [l sl -
= |:E xe’ _.FE,_|:E e :| MNotice that I Ed—;dt 1s a
(L] et vatesning (o2 o
o e O B sumpler integral than .I”a : i
L4 4]
_ 1, 1 —
= o _1 Apply the limits on the wv
term and to the integral term.
b
X 0 0.2 04 0.6 0.8 1
¥ 0 0.29836 | 0.89022 | 1.99207 | 3.96243 | 7.38906
\ Complete the table to find
c the values of v.
I = %x 0.2/0+2(0.29836+ 0.89022+1.99207 +3.96243 )+ 738906
= ID.I:EI.IST_*-EE;
= 2168 (4s1)

© Pearson Education Ltd 2C
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Exercise A, Question 50

Question:
a Given that y =secx , complete the table with the values of y
' T T
corresponding to x=—,— and —.
16 8 4
x 0 4 ir T
16 5 16 4
¥ 1 1.20269
h Use the trapezium rule. with all the values for y in the completed

table, to obtain an estimate for FEJ' sec x de.

Show all the steps of your working and give your answer to 4
decimal places.

"

The exact value of {]T sec x dx1s In(1+ '\E} .

c Calculate the % error in using the estimate you obtained in part b.
E
Solution:
a
x 0 T T ir T 4— [Complete the table.
16 3 16 4 Ensure that your
y 1 [1.01959 | 1.08239 | 1.20269 | 1.41421 calculator is set to use
: radians and use
b S e S ll
1 : : ; 16} | |16
I = e 1+-2(1.01959+1.08239 +1.20269 ) +1.41421 : - :
lor —
= L 7355 L
3 = 9.02355 c::rs]ﬁ

= 0.88588 . =0.8859 (4dp)

c Percentage error 1s

(0.8859 —In(1++/2) |
In(1+~/2|
0.5136% (4dp)

=100 =

© Pearson Education Ltd 2C
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Question:
)
1= [ g
«U
a Given that y=e . complete the table with the values of »
corresponding to x=2_ 3 and 4.
x 0 1 2 3 4 3
. 1 2 3
J e e =
b Use the trapeziuvm mule, with all the values of v in the completed
table, to obtain an estimate for the oniginal mntegral I, giving vour
answer to 4 significant figures.
c Use the substitution #=+/(3x+1) to show that [ may be expressed
b o » 5
as { kte' dr . giving the values of a, & and k.
d Use integration by parts to evaluate this integral. and hence find
the value of I correct to 4 significant fisures, showing all the steps
in your working. E
Solution:

Pagel of 2
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a
X 0 1 p 3 4 3 +— [You could
¥ gl el 14094 [ 23624 | 36.802 et complete the table
with e, ¥
b . and ¥
E = Ex1|e‘+2[e1—14_094—23.&24—36_802}+e*
= lx 2211 ..
g
= 1106 (4s1)
» P J '5 Vel gy o You need to replace each
40 i term with a
Let corresponding f term.
to= A Gr+1) First replace dx with a
4 g o3 term 10 di.
— = —(3x+41) *=—
dx 2 2
Replace dx with %dr “— Use r=,J(3x+1) to
change the limits. When
X f
0 1 x=0,r=1 and when
3 1 x=31t=4.
a2 T2,
So = [ Tar= [’ ar
"I 3 3
; 2
1e.a=1b=4 and A_=E'
il
2 '
u o= E!:;,E:E = Let u=—t and d—1=er
3 T dr 3 3 dt
¢ dv
L <:E—f' - IComplete the table for
du dh
b, v, — and —
7 4 49 dr de
I = Zre' — [ —e'dr
3§ 13
r 4
g 2
3 13
g . ~ -— Apply the limits to both
= —e —Ze—Ze' +-e terms.
3 3
= 2e”
= 1092 (4s1)

© Pearson Education Ltd 2C
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Exercise A, Question 52

Question:

The following is a table of values for y=./(1+smnx). where x is in

radians.
x 0 0.5 1 1.5 £
¥V 1 1216 2 1.413
a Find the value of p and the value of g.
b Use the trapezium rule and all the values of ¥ in the completed

table to obtain an estimate of I, where

I=[ J@+sinz) dx E

Solution:
4 ) +———— [Your calculator should be in
p = 1357@3dp) radian mode.
g = 1382(3dp)
b Using the trapezium mle

I = %K’U.ﬁll-l- 3[1.216+1.35?—1_413)—1.382]
= 0.25x10354

= 2.5885

= 2.589 (45.£)

© Pearson Education Ltd 2C
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Exercise A, Question 53

Question:

1
L |

The figure shows a sketch of the curve with equation

y=(x—1Dlnxx=0.

a Copy and complete the table with the values of ¥ corresponding to
x=15and x=25.

x 1 1.5 2 2.5 3
¥ 0 In2 2In3
Given that [ = |']°(x ~Dlnxdr.
b Use the trapezium rule
i with values of v at x=1.2 and 3 to find an approximate
value for { to 4 sigmificant figures,
il with values of y at x=1.1.5,2.2.5 and 3 to find another

approximate value for [ to 4 significant figures.
c Explain. with reference to the figure, why an increase in the
number of values improves the accuracy of the approximation.

d Show. by mtegration, that the exact value of F{.‘c—l}ln xdx 1s
Zin3. E
2
Solution:
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a
1 15 e 23 3
05Inl3 In 2 15In25 2In3
. : : : e You may leave your
h i Trapeziom rule with 2 strips T
answers in terms of
1 In at this stage.
I 5x1:ﬂ+3>-:1112+3]113]
ix 35835 _
2
1792 (4s.1£)
ii Trapezinm mule with 4 strips:
I l.\( 0.5[G+ 20515424152 5)+2n 3| 4— |Show all vour
- ) working.
0.23x6.737836---
1684 (4s.£)
c The trapezia are closer to the required area when there are more strips.
/J;j/;’ _
g /:/ - A diagram can help
#_,;faj_fff' : vou to explam.
= —
[}] 1V 2 X
d Letf={[x—l}h1xda:. — Let u=Ilnx and
! &5 . 1
1 an;:}E:l de
dr x
3 < Complete the table for
X dv
v ?—ICEZI—]_ i du '1_11d£
" TUde T dx
= li—x Inx — Il]l —x|dx
(2 ) tx|2
3 . F-\\\ Apply the limits to the uv term
= ?ln?r— I 'E— l‘dx and to the integral term.
= E111 3—| X —
2 4 !
i
- 51n3—[3—3|—‘1—1‘.
2 4 )14 )
3
= —In3
2

© Pearson Education Ltd 2C
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Exercise A, Question 54

Question:

a . ¥
]

The figure shows part of the curve with equation .f(tanx) . The finite region R,

. . . . T . .
which is bounded by the curve. the x-axis and the line x=>=_ is shown shaded in

the figure.
a Given that y=./(tanx). copy and complete the table with the
_ T im .

values of v comresponding to x=—.— and —. giving vour

16 8 16

answers to J decimal places.

X 0 g x 3T T

16 8 16 4

v 0 1

b Use the trapezium rule with all the values of v in the completed

table to obtain an estimate for the area of the shaded region R,
giving your answer to 4 decimal places.

The region R is rotated through 27 radians around the x-axis to generate a

solid of revolution.

c Use integration to find an exact value for the volume of the solid
generated. E

Solution:
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a
x 0 T T 3T T
16 32 16 4
) ] 044600 | 0.64360 | 081742 1
b From the trapezium rule = Ensure thaT youL
calculator 1s in radian
i o ~ mode.
Area == Ex l'—ﬁ['l}+ 2(0.44600+0.64360+0.81742) +1|
=~ —x481404
32
= 04726
c Volume - ~ [Use the formula
I 1 v=um|y? dx.
= r[[w.l'tanx}‘da: :
:_1 [ tanx dx=1In|cosx|
- T.! tan x dx 15 ZIVEen 111 VOur
N formula book.
% s1m X -
= _I — dx * or T [ln‘sec 31]]:
= T [— Incos .1]]-_1
= Ti— I.'l]. L |
] 2 l

1
= 7.‘].11#)5 or ;ﬁlnE

© Pearson Education Ltd 2C
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Question:

Using the substitution %~ = 2x —1_ or otherwise. find the exact value of

i 3x
[ —— E
1 J2x=-1)
Solution:
Let [ = [ 3x & 4+——— [Replace each term in x
A f2x—1) with a term 1 2.

Let u° =2x-1

EHE=2
dx
22 : 2 +1
So replace dx with « du and x =
Also ;=l
(2x-1) u
¥ 1 4+————— [Change the limits. When x=1,
1 1 u' =1 and when x=35.2"=9.
5
So
3@ +1)
I = {;.n e
o U
RTRE —
= | -EH i+ E.J M. +———— Simplify and integrate.
[1 . A
= —u +—u
2 |
- 4k
= | 27.9) _[ 1,3) +——— [Evaluate the integral using the
\32 a2t Aa"3) G o
2 & o & mew & limits.
= 18-2
= 16

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 56

Question:

[

The figure shows the fimte region R, which 1s bounded by the curve

y=xe’ the line x=1, the line x=3 and the x-axis.

The region R is rotated through 360 degrees about the x-axis.
Use integration by parts to find an exact value for the volume of the solid

E

generated.

Solution:

Use
Vo=

Il
=
S
M
rﬂl_l
=%
-

Le. I"=rr;gc —le'? —7.‘[ xe’
2 2 1 -

W =

[
=
|
2]
|
|
2]

I
|
=
T
|
I
4]

© Pearson Education Ltd 2C

+——— This integral 1s sumpler than I~

9 d'l" o
Let u=x" and —=¢e™"
dx

di
Complete the table for w, v. IH
x

and :.—1 Take care to

: : ; dv
differentiate » but integrate =
£

but still not one you can write
down. Use mtegration by parts
e dv o,
agamn with # = x and —=e"
dx

IComplete a new table for the

E 5'1 e
_7-'_[ ?e‘* ldx du dv

new i, v. — and —.

dx

Apply the integration by
parts formula a second
time.

Pagel of 1
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Review Exercise
Exercise A, Question 57

Question:

oF ap

The curve with equation y = 35'111:.05 x=27. 1s shown in the figure.

The finite region enclosed by the curve and the v-axis 1s shaded.
a Find, by integration, the area of the shaded region.

This region 1s rotated through 2.7 radians about the x-axis.

b Find the volume of the solid generated.

Solution:

Area = |-3sinicl.x 4+—— [Recall (3) in the mtroduction to
i integration. Integrating a sin function
e iz1ves a change of sign and a cos function.
3x—2cos—
2

- [The 2 here 1s obtained from dividing

Il

|

(=

o

=]

w

| =

e
- =

1 ) .
by Y which anses from the chain

1]
—_
=%
|
1
=2
e
i

Ao rule.

b

I
—
(]

Volume =7 ]951:1 —dx
| ‘_——'_'_'_'_

Recall cos24=1—2sin’ 4
So sin® A= 1(1—@; 2.4)

2 3 on X
Y'ou cannot integrate sin” 5 but you can

write this in terms of cos x.

1 X l
So sin” %=E{1—cosx}

S Volume = T F —cosx)dx
S0 #——— oucan now integrate each term directly.
Or
= —I x+sin 1]
= Zx(2x-0)
5
volume = o

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 58

Question:
Use integration by parts to find the exact value of [:.1': lnxdx. E
Solution:
Let I= [_EJ.': In xedx ’—— Since there 15 a In x term
d 1 Let 2=Inx and & 3,
U = Inx=>a=— dx
¢
¥ dv
T =y — ;
! 3 & dx & Complete the table for u_1-'_E and 3—!
4 X
Using the integration by parts formula. Tdike carc. (OB CrentilE S Dt At gk
- &
P x I *X
I = —lnx{ — — dx
| 3 4 ! 3 x T Apply the integration by parts
33 formula.
= 93— [dv
4 3 \ du
.. Simplify the v— term.
X dx
= OIn3i—
9
= Oln3—|3— ll
| 9
26
= 9In3——.
9

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 59

Question:

Use the substitution . =1-2x" to find the exact value of

| = dx.
(1-x)?
Solution:
Let u=1-x" . _
du This implies that .'l.'dl'=—£.
Then — =—2x 2
and x" =1—u —
3 2 4—— |UUsex =x x and
50 { a = F ~  xdv= [ e e
’ 1—x%)? ) (l—xjj? ”: ' =1-u with xdx =——.
1 12 =
:{—di’f———%ﬁ T —pidu =] —u® +—-'1' | 4— |Stmplify and integrate

T =,

.

As limits for x were 0 and l limats for u are 1 and i

S
So eraluare'—:;3+lu1' :(—£—>< 33 — =Lk
3] 2 3xaq4
3
—f—i) (——}
_;_ﬁ
3 8

© Pearson Education Ltd 2C

- —

A5 the variable has changed, so

to find the new limits.

must the limits. Souse u=1—x"

Use the new limits to evaluate
the answer.
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Exercise A, Question 60

Question:
a Express o WEEE in partial fractions.
2x—3(x+
, § Sx+43 L e
b Hence find the exact value of F md&'. gIving your
T (2x—=3)x4+2
answer as a single loganthm. E
Solution:
a
Jx+3 _ 4 B
2x—3)(x+2) T (2x- 3) (x+2) *——— [Use denomunators (2x—3)
A(x+2)+B(2x—3) pod (=+2)
T 2x=3(x+2)
Chx43=Alx+ D)+ B(2x-3) - Equate numerators.
Put x=-2 then —7=0-7TB=B8B=1
3 21 7 .
Put x== then —=—d= 4=3
2 2 2
_ Jx+3 o B .U
T (2x-3)(x+2) 2x-3 x+2
b
% Sx43 T3 1
I —dx = [ dx+ I dx : : :
J1 (Qx—3x+2) “ 2x—3 3 x+2 ¥— Rewnte the integral using
=4 5 artial fractions.
= Zi@x—3)+In(x+2)
¥~ M, 1
= %h19+ ]ug___ﬁ —— [[ntegrate and do not
< forget to divide by 2.
= mﬁ—m%
Substitute the limits
= 2 9
h _1? -1—4]11_ moting Inl=0_
= 1 3

© Pearson Education Ltd 2C
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Exercise A, Question 61

Question:
a Use mtegration by parts to find
[xcos 2x dx.
b Prove that the answer to part a mav be expressed as

—smx(2xcosx —smx)+C,

where C 1s an arbitrary constant. E
Solution:
a Let I = I‘xcosh'dx — dv
. Let w=x and —=cos2x.
d}'.
W o= x=> g |
o
1 A Complete the table for
v = —sindye—=cosdy 4« du dv
2 dx u.v,— and —.
dx dx
_ L 1.
Fof = —x;mfr—{—smh‘-ldx
2 12 e— —
1 ~ —————— [This integral can now be
= gk sin 2).'—10:}5 2x+c integrated directly.
. 2
1 : 1, . &
1 = —x2sinxcosxy+—(1—2sin x)4¢
2 44 .
= lsin P cte e s ) —l—c T [Use double angle formulae:

2 sin2x=2smxcosx

and cos2x=1—2sin" x.

- f - \ I
—sinx(2xcosx—sinx|+c

2 \

Where ¢’ = - +c.
4

© Pearson Education Ltd 2C
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Exercise A, Question 62

Question:
Use the substitution # = 2" to find the exact value of
1 2.'(
|
W24
Solution:
1 2%
Let /= [——dx.
PR
Let u=2"
— [You need to replace each "x" term
du R 2 T
—=7".1n? with a corresponding "u' term.
d}‘
Replace 2% dx by 1 lf} do
n? —
—— |Change the limits:
E {1" — when x=0,u=2"=1
1 2 x=lu=2'=2
Pl 1
Then I = | ——- du
a4l 2
1 I Nk
= EI 11+ )]l
2 L[In 7. ]_112] et L'se. the limits for  to evaluate
In2 the mtegral.
1, 3
= —In-.
h2 2

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 63

Question:

Ly | 4

o

The figure shows a graph of y=x/sinx 0 <x =< 7.

The finite region enclosed by the curve and the x-axis 1s shaded as shown

in the figure. A solid body & 15 generated by rotating this region through

27 radians about the x-axis. Find the exact value of the volume of 5.
E(adapted)

Solution:
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Volume = ;‘:‘[{xﬂsinx}j dx i v= TFT:'{].I
[i] o .

2 s
= ,T{J:' sin x dx

Use integration by parts. - ; dv .
Letw=x" and —=sinx.
T
Gl S Emey du o
£ == T 1
‘\—__‘_‘_‘—\__
dx . e i
P R e Complete the table for 14.1-'.3
dx 4
"
and —
= 1 dr
S Volume = 7 |F—x' cosxli— [— 2xcosxdx |
_ | |‘ S dr | «——— [This integral is simpler than the
origmal one but vou will need to
use integration by parts again,
i dv
i mr B ﬁzﬁ with & =2x and —=rcosx_
dx >

-
Il

. dv
SIIY & —=CO05X
d‘;\.

’-'|:T +[2xsinx]; - }‘lsinx do |

o Volume

f Y — 1
. x(rt+ {3 . J‘]g # This term becomes zero as

2rsma—0=0.

= x( 7 +[-2-2])
= T(7 —4)

= T —4r

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 64

Question:
a Fimnd [.tcoslr dr .
b Hence, using the identity cos2x=2cos” x—1. deduce
}-J; cos” xdx. E
Solution:
a Let I= J‘xcos 2x dx 4+—— use integration by parts and
let #=x and £=c0521'.
du doe
u = x=>—=1
1 . dv
- — ety g - = - -
= ) BN dx R 2 Complete the table for .!.'.1'.d—”_
dv
sl = lxsiuh‘— [.lsinzx.ldr il di
2 J 3
1 . ae 1 -
= —xsin2x +1C05~1 t¢ 4 |Donot forget to add the
I . constant.
b I.‘c(Ecos'x—l}dx:I

So .I‘;\'ms2 rdr= %I—%I[.I dx

= }lxsin 2.r+lcos %
|4

—ix"-l-c
;] 4

© Pearson Education Ltd 2C
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Exercise A, Question 65

Question:

2(4x" +1) _4. B . C
Cx+D2x-1)  @x+1) @x-1°

a Find the values of the constants 4, B and C.
b Hence show that the exact value of

[: 2(4x7 +1)
L 2x+1D)(2x-1)

giving the value of the constant k. E

de 1s 2+Ink .

Solution:
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a Let
A2
£(x) _ 2 +l)
Cx+D(2x-1)
_ 8x*+2
45* -1
2r4
g iy | 85’ 19 4——— Divide the denominator into the
/ numerator.
8x’ -2
4
~f(x) = 2+;
Cx+1)(2x-1)
A B , ; ;
= P « Express as partial fractions, using
x+l 2x-l denominators 2x+1 and 2x—1.
/ Y G I
SR 4 _ AQ2x-1D)+B(2x+1)

Qxr+102x-1) Qx+DQ2x-1)

Equate mumnerators

4= AQx-1)+B@2x+1)

Put
1
- B 4=72B=RB=72
1
X = —;:4=—Li:~.i=—2
2 ) .
Sf(x)=2

T Q2x+D) Qx-1)
or A=2.B=-2.C=2

b
1 1 " ?
. % . - it - £
N -!-f{l’l d [‘_ 2%+1 2x—1 4+ |[Use the partial fractions
) 3 from part a.
= [2x—In|2x+1|+In|2x-1]]
= 4-In5+n3-(2-1n3) Integrate each term using
= 2-In54+2In3 £(x)
- b jﬂﬂch—unﬂﬂ_
= 2+ ]nE :
5
Use the laws of Ins to
combine the log terms,
: 9 noting that
ek emle Jn3=In3'=In9.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 66

Question:

f(x)=("+1nx.

Find the exact value of [:f (x) dx.

Solution:

Let 7= (*+1)Inx e
Let
du 1
u = nx=>—=—
x X
R i+1‘<:£=(l'2—1} —
3 dx
Using integration by parts:
r ¢ e £ 1 ( 3 ._
| x | | [ '
I = [T—J.J].nx —_{;l\?+1.} d
L A1 ‘_'_,_,_.—'—'—
f e:\ \II gy _L_] 4
= el 41} dx
g o {l 5
b e ——
L A —
= —+e—|—+x
3 [9 i}
e e’ 1
= —te—|—+e-—-1
3 9 9
. 2 10
9 9

Use integration by parts with

u=Inx and so £:x3+1.
dx

d
IComplete the table for zm-‘.é and

E
dr

— |Apply the limits to the wv term

and to [‘LE de .
v {h

Evaluate the limits on uv and
remember Inl=0.

— é.::ge-‘- +10) +————— This 15 an exact answer.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 67

Question:

The curve C 15 described by the parametric equations

x=3cost,y=cos2t0=r=nm

Find a Cartesian equation of the curve C E

Solution:
x =3cost +——— [Rearrange to make cos ¢ the
WA kubject of the formula

y o= cos 2r
= D2cos'r—1 - [Use the double angle formmula.
o = 2] — : _
“13) - Eliminate ¢ to give a Cartesian
EquAarion.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 68

Question:

The point Pla.4) lLes on a curve C. C has parametric equations

x=3tsint, y=2sect,0 <t = —~ Find the exact value of a. E

Solution:

Put y=12sect=4

' Y

|As point P has v coordinate 4.

MNow solve the resulting
trigonometric equation.

Then sect=2

&

_ 1
S0 cost=—
2
P & 4 (Give vour answer in radians as
3 4
O<r=—
S 4 2
Lx = S—sm— =
3 . ‘\
Substitute the value of ¢ into
J: x =3fsint.
3
le. x=7
2 =
F _\_\_\_‘_—‘——\_\_\_\_\_\__\_\_\_\_
.-T\E ————— [This 15 the x coordinate of P and
So a= 4 ko 15 equal to a.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 69

Question:

A curve has parametric equations

.2 x
x=2cott,y=2sin"¢,0 -=::r53_

; : dy .

a Find an expression for — 1n terms of the parameter .
'y

b Find an equation of the tangent to the curve at the point where

. a

e
C Find a Cartesian equation of the curve in the form y=1f{x).
State the domain on which the curve 1s defined. E
Solution:
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a
= 7 P P = p
x Jeotr.y=2sm" 1 4+—— [Use the chain rule to
dx : _ . O
— = -Jcosec f,—=4sintcost differentiate 2sin” 7.
di dr
+— | dy dy dx
: Use —=—=+—.
dv _ 4sintcost dc ar  di
Cdx —2cosec °f
— —2 5in3 fcost B — bllﬂpllf}-‘ u.‘:ﬂ]g
cosecr=——.
sin f
T ( i 1
b Atr=—, gr

Find the value of the gradient

fthe curve at r=—.

The tangent has the same
eradient as the curve.

1 o
e
The coordinates of the point where ¢ =i are:
i 1 N <
_1:=2__1'=2><l —J =1
W2
. The equartion of the tangent 1s
1
¥-1) = —x-2) -
2
-1
Ly = —x+2.
2
x
¢ As x=2lcotf,cotr=—.
.‘—
R P F
Alsoas yv=2sin f.sin 7= oy and
. 2
cosec T=—
I..LI
.‘—

use 1+ cot” f = cosec *f

fl.'-:-_rj".
‘heﬂl‘lg} e
(2] 4+
3) 1 R
‘I B 4
l?] - __1__1_2
8
|1|. = .l
44x°
As U-=:Zr£§,corr?—_}t}

As x=2cott.x=0
This 1s the domain of the function.

© Pearson Education Ltd 2C
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Rearrange to make cott and
2 5

cosec ¢ the subjects of the

formulae.

(Write down the relationship
between cot” ¢ and cosec “f.

Eliminate ¢ to give a
Cartesian equation.

Take the reciprocal of each
side of the equation.
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Review Exercise
Exercise A, Question 70

Question:

A curve has parametric equations
x=7Tcost—cos 7 yv="Tsint—smn 7t

r_ x

—_— e —
8 3
: ; dv .
a Find an expression for o m terms of r.
X

You need not sumplify your answer.
b Find an equation of the normal to the curve at the point where

I s sib T x
=—_ (G1ve your answer in 1ts sumplest exact form. E

Solution:
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a
x = Teost—cos Tty =Tsint—sin 7t
dx . o dv - -
— = —TJemr+7smn7r—="Tcosr—TcosTr
dt dt
using the chain mle :
dv _ Tcost—TcosTt
dx —TUsinr+ 7sin 7t
b When t=—
6
7 3—|—? V3
N i —
dv . 2
_ 1 _ 1
i — R
2

-5
- Gradient of the normal at the point +———

R |
where t=—15 —.
6 3

|

When =

o |

&
&

]
b2

._.
Il

-]

=

P | =
+

[t | bt
Il

P

~. Equation of the normal 1s

1 -
y—4 ﬁ(x—w'.?}
“ 3

© Pearson Education Ltd 2C

X

+«— |dy _dy dx

dc  dr dr

Substitute f =§ to find the

eradient of the curve.

- l g
Use mm =—1, the condition

for perpendicular lines to
find the gradient of the
normal.

Find the co-ordinates of the
point on the curve when

Use y—3, =mix—x) for
the equation of a straight
line.

Page2 of 2
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Review Exercise
Exercise A, Question 71

Question:

A curve has parametric equations

™
FL!

x=tan f,y=sinr,0=r=—

-
. . dy .
a Find an expression for d_ in terms of 1.
X
You need not simplify yvour answer.
b Find an equation of the tangent to the curve at the point where
x
t=—.
4

Give vour answer in the form v =ax+ 5. where a and b are
constants to be determined.
c Find a Cartesian equation of the curve in the form y" =f(x}). FE

Solution:
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a
x = tan’ 7,y = sint e
dx 5 dy
— = 2tanfsec” r.—=cosf
dt dt

using the chain rule:
dh cost
_:—_' .-—
dx 2tanrsec ¢
b When r=—
4
1
S -
dv _ 2
dx 2% 1% (\[2)°
1

v
T 1

. Gradient of the tangent where 1 =— 1s :
4 42

1

Avr=Z x=1y=—=

5

The equation of the tangent 1s:

Lo, T o
y = =D
1 3 NN 7]

—x-l-—dwﬁ or ¥ =?x g

Al—
= l1—cos ¢
1
= 1— - -
gec” f
1
= 1— -
l+tan“ ¢t +#——-—
»
= 1— or ¥ =
X 1+=x
-

© Pearson Education Ltd 2C

Use the chain mule to
differentiate tan” r.

Substitute £ =% to find the

wvalue of the gradient of the
curve.

Find the co-ordinates of the
point on the curve where
t=m/4.

The tangent has the same

oradient as the curve at the
)

point l]%J ;

Use y—y, =m(x—x).

= 1 i 3
Use cos  r+sm r=1.

1

cosft

Use sect =

Use l+tan f=sec ¢

Eliminate f by using
tan’ t=1x.

Page2 of 2
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Review Exercise
Exercise A, Question 72

Question:

The curve shown in the figure has parametric equations

, f =y = s
x=sinr,y= emt r——] et
. 6/ 2 2
a Find an equation of the tangent to the curve at the point where
t=—.
6
b Show that a Cartesian equation of the curve 1s

_1-=fx+%\f(1—x:}.—l-=1-x-=1-1. E

Solution:

file://C:\Users\Buba\Desktop\further\Core Matheroga#\content\sb\content\c4 revl... 3/6/201:



Heinemann Solutionbank: Core Maths 4

a
. N A

x = st y= sin[_ _r.——J

dy 3 e
— = cose‘—=cos —J

ds 6
using the cham mle:

— [t o &

&y st dr dr dt’

dx cost
At the point where 7 = %

1 -— |, : T .
d_'l 3 L Substitute § = Z to find the
v 3 \E oradient of the curve which 1s
also the gradient of the
T It t.
*. Gradient of the tangent at + = E 15 LY : Ansh
2 Find the values of x and ;
Alsoat t= : —l 1'—£ h X
6" r=- 7 when t =—.
Equation of the tangent 1s:
3 i -
L ___.' _;J +— [Use y—y, =mi(x—x) for
F the equation of a straight
sy = L_.,_-__l _£ line.
' V3T 23 2

. V3B

1e. y=—x+—
’ 3 3
b
; T
P = st +——
. ( 6}

sin fcos— + cosfsin—.
6 6

= £Slﬂf——CDST
P

As x=sint , using cos’ f=1—sin’ ¢t

means that cost =+/1—x"
V3

| .
.._'I.'=TI+E"'I.'(1—.‘L' )]

Ag —l=smt<l=>-1<x=1.

© Pearson Education Ltd 2C
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— [Expand. using addition formmula.

T 3 . 1
Replace cosg by -y and Eiﬂg by p=id

+——— [Eliminate ¢ by using

sinf = x and

cost=YV(1-x").
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 73

Question:

The curve C has parametric equations

1 1

r=—— y=——-l<t<1.
1+r 1-r

The line / 15 a tangent to C at the point where = 5

a Find an equation for the line /.
b Show that a Cartesian equation for the curve C'is 3= Gt
G
Solution:
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1 1 « Differentiate (1+£)" and
X = TF ¥= i (1—)™" using the chain rule.
dx -1 dy_ 1
dr (1<) "dt (1-0°
3 o o o o e ¥ _ & _d
R Ak dr  dr dr
dx (1—-1)
At the point where ¢ = %
9
dh 4 1
S « .
& 1 Substitute 1= S to find the
4 eradient of the curve and thus
= =9 the tangent.

. 1 .
. Gradient of tangent, where r= .18 —9.
" 41“— Find the values of x and y
Also x=—= and y=2 where t=—. . 1
3 7 when =~
-. Equation of tangent is —
2) -
‘1'—32—9..1'—5! +—— Use y—3, =m(x—x).
1e. y=-9x+8
1
b As x=
1+¢
1
I+ = —
x
) 1 +—— [Rearrange to make ¢ the
= :_1 subject of the formula.
. : 1
Substitute mto y=——
-1
1 — —
Ly = 71 3 +—— [Flininate ¢ and simplify the
i l ——1| fraction multiplying
x numerator and denominator
_ 1 by x.
.
x
_ x
2x—1

© Pearson Education Ltd 2C
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Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 74

Question:

o e

The curve shown has parametric equations

1
x=t+—,y=t—1fort=0.
i

a Find the value of the parameter ¢ at each of the points where
x= 21.
2
b Find the gradient of the curve at each of these points.
c Find the area of the finite region enclosed between the curve and
: 1
the line x= 2?. E
Solution:
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1
a x=t+—yv=r—l1lfort=0
T

1 1 1
As x=2—, bt 2? < Multiply both sides of this
]_ : = equation by ¢ and collect the
SR 2441 = 0 terms to give a quadratic
2 equation.
1e. 2 =542 = 0
S@e-1)(-2) = 0
== f =% or 2
b
dx 1 dv : '
— = l-—=.—=1 & Fmdganddiandusethe
ds t dt dr dr
R = l_l: r <:h,ai.nrl.ﬂ.v:'£=£+E
" el o | dx dr dr
1 +——— [Substitute the values of
When ¢ = 2 . gradient = I found in part a.
2 ! 3
——1
4
4 4
t=2, gradient=——=—.
gradien e
c
Area = [1£ dt
J 7 dt 5 :
) . . - Substitute v=r—1 and
= Jre-D|1—|a & Feks
: R dt t
= [‘-_r—l—l—idr
e tot - [Expand the brackets. ‘

-+

Pntegrate each term. ‘

t 1
——t—Int—- *
2 th

5

. 1 .
use of limits +=2 and ¢ = - to give

_‘l_l_lnl_g
8 2 2

e[ .
area = —In2-— Substitute r=2 and £ =

1d | =

1
2

7 then subtract.
= 1§—2h12=0.488?

© Pearson Education Ltd 2C
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Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 75

Question:

S

’ i3 y
a Show that the curve crosses the x-axis where = E and = T ;

The finite region R 15 enclosed by the curve and the x-axis. as shown
shaded in the figure
b Show that the area R 1s given by the integral

iz

L?[l =32 cosr}:dr.

c Use this integral to find the exact value of the shaded area. E

Solution:
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a The curve crosses the x-axis when yp=10_
As y=1-2cost, when y=10

cost=—
2

S
= or —.
3

w5

b Areaof R is given by J__1;£ dr
iy 'y

As x=r—2sint,

% =1-2cosr.
. Artea = I___(I— 2cost)(1—2cost) drt——— Pubstitute ¥y =1-2coss and
= o §=l—lcosr mnto the
= IL-‘ (1—2cost)’ dr. intepral.
: |
L Area = l:_(l —4cost+4cos' t)dr +—— [Expand the bracket.

3
S 5w

[t—4sinf3 +2 [ (cos2e +1) dr

«— - .. Integrate 1 —4cost directly.
3z 3z
[r—4sins]} +[sin2¢+2r]3 \

T [Use double angle formula

) _ . cos2t=2cos’ t—1 to replace
— o Ap o 3
- |3t —4sint 51112:]; 4cos’ t with 2(cos2¢+1).

a2
|I\m=.-' integrate (2cos2r+2) . |

§5w+zﬁ—§}—{:—zﬁ—§]

= dr+43 -3
= 4r+3.3

F‘.ollecr the terms. |

Use the limits to find an
exact answer.

© Pearson Education Ltd 2C
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Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 76

Question:

The curve shown in the figure has parametric equations

x=acos3t ) =asinr.—££3r5 E.
6 6
The curve meets the axes at points 4, B and C, as shown.
The straight lines shown are tangents to the curve at the points 4 and C
and meet the x-axis at point D). Find, in terms of a
a the equation of the tangent to A,
b the area of the finite region between the curve, the tangent at 4 and
the x-axis, shown shaded in the figure.
Given that the total area of the finite region between the two tangents and
the curve is 10 em®

C find the value of a. E

Solution:
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a Atpoint 4 x=0

-« Find the co-ordinates of the
point 4.

coacosit=0= 3=

ra | =

T
2
Bur y=asint

% e

mw

Arr=— 1=
5

(B [

. A1 the pomnt (0.%)

x = acos3t ¥y =asint
: dy
E = —3asi113r,d;‘=acosr‘ / U dv _ dr
di dr se i = E
W Bl @
dx 3sin 3t
ﬁ +—— [Find the gradient at the point 4.
Td_ T3 _ A3
when t=— —=——-=——.
6 dv 3 6
.. Equation of the tangent at 4 1s ¥ —% =— f (x—0) 4 e
—Jj . 2 y—y=m(x—x}.
e %5 S
6 2

b This tangent meets the x-axis when y =0, at the point D.

; V3 i a Find the point where the
6 2 / tangent meets the x-axis.
x = Ba

1
Area of triangle AOD 15 > » \Ea ® %

= %ﬁai " [Usearea of triangle =

* heightie. %GD 0

base

1 | =

Atthe pomt B, r=0
; 1 , » dx
Area of region required = —\Eﬂ‘ — J\ L dr
4 Y7 odt
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L*Jr_a —{ asinf(—3asm 3Hdr

\ area = area of triangle —area beneath the curve .

1 : 4+—— [Use 2sinssin3r = cos 2t —cosdt
= -.."'_ 3a”+— cos 2t —cosdr dr This is from the trigonometric
[ ‘factor formulae' —see C3.
_ ]'. J: 3 31]‘_ ] i -
= S e _—,5 sin2f—— ';m 4?‘ A""'f The E limit corresponds to point
14 and the 0 limit corresponds to
s 1 atse 1.:: J_ “"— point B
= — a - | ‘\\ =
4 z 4 8 | Use the lumits and the result
1 5 3 2 - Yar 3
= —\3a'—\3a’ su1;—51n——£ to give an
4 16 3 7
s 1 B exact answer.
= —J3a
¢ Totalares oo Fx iﬁa: =10 44— [The total area 1s twice the area
1 found in part b
2 80
Sa = —=
3
a = 679 (4s1)

© Pearson Education Ltd 2C
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Solutionbank C4

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 77

Question:

[ 1
A table top. in the shape of a parallelogram. 15 made from two types of
wood. The design 15 shown in the figure. The area inside the ellipse 1is

made from one type of wood, and the surrounding area is made from a
second type of wood.

The ellipse has parametric equations,

x=5cosf.y=4smf 0=8=21

The parallelogram consists of four line segments. which are tangents to the
ellipse at the points where

=w 8=—a. 8=m—0a. =—T+c.

a Find an equation of the tangent to the ellipse at (Scosa. 4smna).
and show that it can be written in the form
Syvsina+4xcosa=20.

b Find by integration the area enclosed by the ellipse.

c Hence show that the area enclosed between the ellipse and the
parallelogram 1s

80

sin 2o

- 20 E

Solution:

file://C:\Users\Buba\Desktop\further\Core Matheroga#\content\sb\content\c4 rev... 3/22/201.



Heinemann Solutionbank: Core Maths 4 Page2 of 3

a
x = SGecosfBy=4sinf
{—h- = —Jsn €.£=4c05|‘5‘
dég dé

From the chain rule

dy dcos & , . ’
;- e @& _&

dx —Ssinf de do dé’

—ic:}tﬂ
3

The gradient of the tangent <— [Substitute 8= & to give

eradient at particular
point.

5 ; —4
at (Jcosa. dsina) = ?cot o

~. Equation of the tangent 1s

. 4 =
y—dsing=——cota(x—Scosw) +——— ILse y—y3 =mlx—x). |
2]

ie Sysina—20sin'a = —4cosaxx : :
+—— [NMultiply both sides of the

+20cos” & : :
equation by sin o .

~Sysina+4xcosa = 20(cos’ a+sin’ @)

20x1 4+— [Collect terms using
20 cos'@+sin’ a@=1.

Area = ’1E
Ja dg
= Iliclq_.sin 8(—5sin @) df «+—— [Substitute y =4sm & and

dx - . o
— = —5sind into integral

10 [ 2sin*6 de a6

A
= 10 L_cos 28—14d7 +— [Use double angle formula

. . cos28=1-2sin" 5.
= 10/ —sin28—48|
l b 4+— [[ntegrate and use appropriate

limits.
Use limits 0 and 2.7 to obtain /

area = 207

de
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¢ Area of tiangle formed by tangent at
(Scosa_4sina) and the coordinate

axes:
. 5 +— [Find the points where the
Tangent meets x-axis at x =
cos o tangent crosses the x- and -
_ Ax1s.
Tangent meets y-axis at v =—
sin o
; 3 4 oz 0T
- Area of triangle = o % — Use area Di;
ARG JaHLE triangle = — base x height .
_ 10 2
510 O/ COs &
_ 20
sin2a
Parallelogram is made up of four such triangles.
. Area of parallelogram = — i +— [From symmetry the area of
sin 2 the parallelogram is

B T 4« area of triangle .

80
sin 2o \
Area required = area of

parallelogram — Area
enclosed by ellipse.

.. Enclosed area =
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